www.Parker.com/HydraulicValve

Slip-in Cartridge Valves

Pressure Control, Throttle, Check

Catalog MSG14-3200/US

April 2019

ENGINEERING YOUR SUCCESS.



Catalog MSG14-3200/US Slip-in Cartridge Valves

& WARNING - USER RESPONSIBILITY

FAILURE OR IMPROPER SELECTION OR IMPROPER USE OF THE PRODUCTS DESCRIBED HEREIN OR RELATED ITEMS CAN CAUSE DEATH, PERSONAL INJURY AND

PROPERTY DAMAGE.

® This document and other information from Parker-Hannifin Corporation, its subsidiaries and authorized distributors provide product or system options for further investigation
by users having technical expertise.

® The user, through its own analysis and testing, is solely responsible for making the final selection of the system and components and assuring that all performance, endurance,
maintenance, safety and warning requirements of the application are met. The user must analyze all aspects of the application, follow applicable industry standards, and follow
the information concerning the product in the current product catalog and in any other materials provided from Parker or its subsidiaries or authorized distributors.

® To the extent that Parker or its subsidiaries or authorized distributors provide component or system options based upon data or specifications provided by the user, the user
is responsible for determining that such data and specifications are suitable and sufficient for all applications and reasonably foreseeable uses of the components or systems.

OFFER OF SALE

The items described in this document are hereby offered for sale by Parker-Hannifin Corporation, its subsidiaries or its authorized distributors. This offer and its acceptance are
governed by the provisions stated in the detailed “Offer of Sale” elsewhere in this document or available at www.parker.com/hydraulicvalve.

SAFETY GUIDE

For safety information, see Safety Guide SG HY14-1000 at www.parker.com/safety or call 1-800-CParker.

© Copyright 2019 Parker Hannifin Corporation, All Rights Reserved
Cat3200_01w OFC-IFC.indd, ddp, 04/19

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US

Slip-in Cartridge Valves

Contents Introduction
Series Description ISO Size Page
2-Way Slip-in Cartridge Valves 16|25|32|40 (50| 63|80 (100|125
Introduction, Hydraulic Symbols, Installation Dimensions 3
CE/CP |2-Way Cartridge L I I O N A R 6
C*A Cover without Auxilary Function LI T R BRI AT AT I ) 12
C*B Cover with Stroke Limiter L2 I T I N I B A 13
cC Cover for Pilot System Mounting LI R I O R R I ) 15
C*F Cover for Pressure Relief Function oo | e 18
cG Cover for Pressure Relief Function plus Pilot Mounting oo | 19
C*H Cover with Stroke Limiter e | e e e e | e 0o e || 20
c*v Cover with Shuttle Valve LI A R 23
C*'W Cover with Shuttle Valve and Pilot Mounting o | e | o | e || 24
Accessories 16|25|32|40|50|63|80|100|125
Pilot Valves 25
Cover — Sandwich Plates 32
Adapter Plates NG6 to NG10 33
Spare Parts, Seal Kits 37
Orifice Diagram, Orifice Kits 38
CE, C, CP | Extracting Tools 39
CB Cartridge Manifold Blocks 40
Complete Valves and Combination Examples,
PreszureFunction P 16|25|32|40 (50| 63|80 (100|125
R*E Pressure Relief Valves, Manual Adjustment L2 I I T I 42
RS*E Pressure Relief Valves, Manual Adjustment, Electric LN I I I N 42
Unloading
RE*E*W | Pressure Relief Valves, Proportional Adjustment LI I O R I 47
RE*E*T Pressure Relief Valves, Proportional Adjustment, OBE LI A R 52
UR*E Pressure Unloading Valves L2 R R R A 59
US*E Pressure Unloading Valves LI LI U BRI I 59
Combination Examples, Pressure Function L N B R 64
Complete Valves, Flow Function 16125(32|40|50(63|80|100{125
TEH Throttle Valves, Manual with Pilot Interrupt Valve e e | e | e | e e e 8D
TDA Throttle Valves, Proportional e | e | e | e | e | e | e e e 85
TEA Throttle Valves, Proportional with Pilot Interrupt Valve o fe e o e | e o 89
TDP Throttle Valves, Proportional with LVDT and OBE oo | e | e e | e o O3
TPQ Throttle Valves, Proportional with LVDT and OBE o[ e o] oo e [ 104
TDC Throttle Valves, Proportional, 2-Way High Performance o | oo | e [ 115
TDW Throttle Valves, Slip-In Cartridge, 2-Way e | 124
Complete Valves and Combination Examples,
2-Wa‘; and Check Function P 16|25|32|40 (50| 63|80 (100|125
C1iDB Check Valves, Direct Operated e[ e | e oo e e]|e 136
SVLB Check Valves, Pilot Operated o [e [ o] o] 139
Combination Examples, 2-Way and Check Function LI R R IR I I N ) 142
(Continued)

Cat3200_02.indd, ddp, 04/19

—Parker |

Parker Hannifin Corporation
Hydraulic Valve Division

Elyria, Ohio, USA



Catalog MSG14-3200/US Slip-in Cartridge Valves

Contents Introduction
Series Description ISO Size Page

Complete Valves, Directional Function

withllgosition Control 16|25|32|40(50 (63|80 (100|125
C10C*E*** | 2-Way Seat Valves LI R IR IR I I N ) 147

Complete Valves, Active Cartridges 16|25|32|40(50(63(80(100{125
C10D*C |2-Way Seat Valves with Inductive Switch oo | e e e oo o 154
C18D*C |2-Way Seat Valves with Position Control oo | e | | 159
C18DB107 | 2-Way Seat Valves without Auxilary Function e[ e | e | e | e 164
C18DB112| 2-Way Seat Valves with Stroke Limiter o | o | e 164
C18DB121 | 2-Way Seat Valves with Pilot Valve o | o 164
Installation and Troubleshooting ............c......... Starting Up Hydraulic Systems..........ccocveviiiiiiiinec e 169
Power Transmission..........ccccoviiiieeieeeiiiiiee, Hydraulic FIUI ........oooii e 177
Terms of Sale with Warranty LimitationS..........cccuuiiiiiii i e e e e s e e e e e e ennraaeeaaee s 183
T2 1 (=47 C 10 [T [ USSR 184

Cat3200_02.indd, ddp, 04/19

2 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Symbol Information Introduction

Port Identifications - Graphics Control Surfaces - Graphics

S 3 = T

i el Ao TS A

Description Description
Depending on valve function and design, power ports A A, Area, which is subjected to the pressure at port A

and B can be used for inlet or outlet, A, Area, which is subjected to the pressure at port B

The control port C is the connection between cover and

cartridge unit, A. Area, which is subjected to the pressure at port C

Further Control Ports

X control oil connection, inlet

Y control oil connection, outlet

Z, control oil connection, preferred inlet
Z2

control oil connection, preferred outlet

Port Identifications - Schematics Control Surfaces - Schematics

] 3
i B —

c
= —Ag
AA

L | Plain A
1 . 1 210 227
X———'\—@ ~ ] Plain A, X___'\_/g ~ -
| |
< e —— | < - -
£ c
< <
o o
A,tA=<1 AiAc=1
Design Representation
° ° °
1 1
=]
£ 0% T
[a A [
Seat design Spool design Dampening poppet

Cat3200_02.indd, ddp, 04/19

3 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves

Dimensions Introduction
Code: ISO 7368-B*-*-2-A/B Code: ISO 7368-B*-*-2-A
NG16 to NG63 NG80 to NG100
Location Pin t10 . Thread Depth t6 Location Pin t10 Thread Depth t6

le— m2 _.L_ m2 Location Pin t10 for Hole and Mounting Pattern according to 1ISO7368
b Pressure Functions
2 dt 4] Required surface finish:
1 it

®= VRmax1 6’@= \ Rmax8

i

!
.
!

o !
il
=}

[~ G =

d4 I«— d2 —=| N8°
i | ! 1 —¢ 8+ v
! T
’ :_‘?
—— t3 and t5

L J Length of Fit
d3

Cartridge Manifold Block Series CB, see Pages 40 and 41.

Cat3200_02.indd, ddp, 04/19

4 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Dimensions Introduction

Inch equivalents for millimeter dimensions are shown in (**)

Size b1 d1H7 | d2H7 | d3 |d3max| d4 |d4max*|d5max| d6 |d7H13 |m1:0.2 | m2:0.2 | m3:0.2
NG16 65.0 | 320 | 250 160 | 180 | 16.0 | 25.0 4.0 M8 4.0 460 | 250 | 230
2.56) | (1.26) | (0.98) | (0.63) | (0.71) | (0.63) | (0.98) | (0.16) (0.16) | (1.81) | (0.98) | (0.91)
NG25 850 | 450 | 340 | 250 | 255 | 250 | 320 6.0 M 12 6.0 580 | 330 | 290
3.35) | (1.77) | (1.34) | (0.98) | (1.00) | (0.98) | (1.26) | (0.24) (0.24) | (2.20) | (1.30) | (1.14)
NGa2 | 1020 | 600 | 450 | 320 | 360 | 320 | 40.0 8.0 M 16 6.0 700 | 410 | 350
@.02) | @36) | (1.77) | (1.26) | (1.42) | (1.26) | (1.57) | (0.31) (0.24) | (276) | (1.61) | (1.38)
NGao | 1250 | 750 | 550 | 400 | 430 | 400 | 500 | 100 | ..o 6.0 850 | 500 | 425
4.92) | 95) | @17) | (157) | (1.69) | (1.57) | (1.97) | (0.39) (0.24) | (3.35) | (1.97) | (1.67)
NGso | 1400 | 900 | 680 | 50.0 | 560 | 500 | 630 | 10.0 | 0.0 8.0 100.0 | 58.0 | 50.0
(5.51) | (354) | (268) | (1.97) | (220) | (1.97) | (2.48) | (0.39) (0.31) | (3.94) | (2.28) | (1.97)
NGes | 1800 | 120.0 | 900 | 630 | 740 | 630 | 80.0 | 120 | o0 8.0 125.0 | 75.0 | 625
(7.09) | @72) | 354) | (2.48) | (2.91) | (2.48) | (3.15) | (0.47) (0.31) | (4.92) | (2.95) | (2.46)
NGeo | 2500 | 145.0 | 1100 | 80.0 | 930 | 800 | 1000 | 16.0 | .o, | 100 | 2000 B B
9.84) | (5.71) | 4.33) | (3.15) | (3.66) | (3.15) | (3.94) | (0.63) (0.39) | (7.87)
NGioo | 3000 | 180.0 | 1850 | 1000 | 1150 | 1000 | 1250 | 200 | . o0 | 100 | 2450 . _
(11.81) | (7.09) | (5.31) | (3.94) | (4.53) | (3.94) | (4.92) | (0.79) (0.39) | (9.65)
Size |m420.2| t1+0.1 | t2+0.1 t3 t4 |[tdmax*| 15 16 t7 t8 t10 1] w
NG16 105 | 430 | 56.0 110 | 340 | 295 | 200 | 200 2.0 2.0 100 | 003 | 0.5
0.41) | (1.69) | (220) | (0.43) | (1.34) | (1.16) | (0.79) | (0.79) | (0.08) | (0.08) | (0.39) | (0.001) | (0.002)
NG25 160 | 580 | 720 120 | 440 | 405 | 30.0 | 25.0 2.5 25 10.0 | 0.03 | 0.05
0.63) | (228) | (2.83) | (0.47) | (1.78) | (1.59) | (1.18) | (0.98) | (0.10) | (0.10) | (0.39) | (0.001) | (0.002)
NG32 170 | 700 | 85.0 130 | 520 | 480 | 300 | 35.0 2.5 2.5 100 | 0.03 0.1
0.67) | @76) | 335) | (051) | (2.05) | (1.89) | (1.18) | (1.38) | (0.10) | (0.10) | (0.39) | (0.001) | (0.004)
NG40 230 | 870 | 1050 | 150 | 640 | 590 | 300 | 45.0 3.0 3.0 100 | 0.05 0.1
©0.91) | (3.43) | @.13) | 059) | 252) | 2.32) | (1.18) | (1.77) | (0.12) | (0.12) | (0.39) | (0.002) | (0.004)
NG5O 300 | 1000 | 1220 | 170 | 720 | 655 | 350 | 450 4.0 3.0 100 | 0.05 0.1
(1.18) | (3.94) | (4.80) | (0.67) | (2.83) | (2.58) | (1.38) | (1.77) | (0.16) | (0.12) | (0.39) | (0.002) | (0.004)
NG63 380 | 1300 | 155.0 | 200 | 950 | 865 | 40.0 | 650 4.0 4.0 10.0 | 0.5 0.2
(1.50) | (5.12) | 6.10) | (0.79) | (3.74) | (3.41) | (1.57) | (2.56) | (0.16) | (0.16) | (0.39) | (0.002) | (0.008)
NGB0 _ 175.0 | 205.0 | 25.0 | 130.0 | 1200 | 400 | 50.0 5.0 5.0 100 | 0.05 0.2
6.89) | (8.07) | (0.98) | (5.12) | (472) | (1.57) | (1.97) | (0.20) | (0.20) | (0.39) | (0.002) | (0.008)
NG100 _ 2100 | 2450 | 29.0 | 1550 | 1420 | 500 | 53.0 5.0 5.0 100 | 0.05 0.2
(8.27) | (9.65) | (1.14) | (6.10) | (559) | (1.97) | (2.09) | (0.20) | (0.20) | (0.39) | (0.002) | (0.008)

* Only together with d4,__ and t4,_

Cat3200_02.indd, ddp, 04/19

5 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Slip-in Cartridge Valves
Technical Information Series CE, CP

General Description

Series CE, CP and C 2-way slip-in cartridge valves are ‘6@

hydraulically controlled seat valves that are designed

for compact block installation. Slip-in cartridge, cover,

and pilot system are valve elements that permit single
and combined functions.

Series CE offers poppet and sleeve combinations for
directional functions. Series CP offers a cartridge for
pressure functions and has to be combined with

corresponding covers. CE C'B

Features

® |nstallation cavity and mounting pattern according to
ISO 7368.

® One sleeve only for all poppets.

® 5 poppet shapes.

® 5 poppet springs.

® Optional seal between ports B and C. C*A c*C
® Cover with adjustable stroke limitation.

® Cover with mounting pattern for pilot valve assembly.

® Combinations for complex functions.

® Normally open cartridge (CE*F04).

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB65Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

6 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Technical Information Series CE, CP

Pilot Control for Directional Functions

cC
C016C to C040C

Pilot control valves
for C*C and C*W
have to be ordered
separately

Cartridge
Valve CE

CE*F04 CE*01 CE*04 CE*07 CE*08

Cat3200_02.indd, ddp, 04/19

7 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Slip-in Cartridge Valves

Catalog MSG14-3200/US
Series CE, CP

Technical Information

Cartridge Valve for Directional Function

CE*_04 CE*_07 CE*_08 CE*F04
F —
[ =
I
@ SI SI @ §I
1@ | 1@)
W J— )|(® W —
1:1 1:1.67 1:1.04 1:1.67 1:1.67
A=A, A, =06A; A, =096 A, A, =06A, A, =06A,
A, =04A, A, =04A, A =04A,
dampening poppet normally open
Cartridge Valve for Pressure Function
CP*_Co07
1:1.04
A, =096 A,
Pilot Control for Pressure Function
Pilot control valves
for C*C and C*G
have to be ordered
separately
NG16, 25, 32 NG16, 25, 32 NG40 NG50, 63
P A I? T

— |  — — |  —
X z1 C zZ2 Y X zZ1 C z2 Y

E:LD ﬁ QB i | I
X z1 C zZ2Y X z2 C Z1Y
CF C*G c*C cC

[ I I I
Al

Cartridge §
valve CP
N @ — B
A
CP*07

Cat3200_02.indd, ddp, 04/19

Parker Hannifin Corporation

8
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US

Slip-in Cartridge Valves

Ordering Information Series CE, CP
roA
CE
I I I I I I I - | -
Cartridge Nominal Design Poppet Spring QOrifice Seals Design
Size Area Ratio Series
not required
P for ordering
Code  Description - c?\lde Eﬁ:g ription
016 NG16 Code Poppet Area Ratio v o X
025  NG25 8‘11 :A = QCGA N oun uorocarbon
822 sgis 079 A: = 0:96;:0 ©oe Code Size Poppet Description
050 NG50 08 A, =0.6A, A, = 0.4A, 99 All All Wlth.o.ut OI’IfI(.)e, Op;en
063 NG63 with dampening 00 All 01 Orifice Optional 4
080 NG80 9 Not for NG80 and NG100 00 All 04, 07, 08 Plugged, Closed
100 NG100 4 Orifice size in 1/10 mm, eg. 1.2 mm orifice - code 12
Thread size 1/16 NPTF.
® ® @
> J$L>‘< —
Code Normal Description ><f< -
Position
No Poppet Orifice position
C Closed Sealing Q
s Closed  With Poppet Code Description Weight:
Sealing L  Opening Pressure 0.1 Bar (1.45 PSI) CE016  0.3kg (0.7 Ibs.)
F2) Open  No Poppet N  Opening Pressure 0.5 Bar (7.25 PSI) CE025 0.6 kg (1.31bs.)
Sealing S Opening Pressure 1.6 Bar (23.2 PSI) gggig 1; I;g (2171 :gs.)
" Only for spring S, T and U. T Opening Pressure 2.5 Bar (36.3 PSI) 7kg (3.7 Ibs.)
Not fi de 01 ) CE050 3.7 kg (8.2 Ibs.)
NoCt%10£; FOEFZ;(;;O e U  Opening Pressure 4.0 Bar (58.0 PSI) CE063  7.1kg (15.7 Ibs))
2) (Only witz spring)'code L, only CE080  12.8kg (28.21bs.)
with closed bottom. CE100 27.0 kg (59.5 Ibs.)
roA
CP 07
I I I I I I I - | -
Cartridge Nominal Design Poppet Spring QOrifice V Seals Design
Size Area Ratio Series
A, =0.96A, not required
Code Description for ordering
Code  Description N Nitrile
016 NG16 V Fluorocarbon
025 NG25
032 NG32 Code Description
040  NG40 00  Plug
050  NGS50 09  0.9mm for NG16
063 NG63 11 1.1mm for NG25
12 1.2mm for NG32
13 1.3mm for NG40
14 1.4mm for NG50
15 1.5mm for NG63
Normal A
Code Position Description " Recommended diameter
c Closed ~ §oroPPe!
; 9 Code Description Weight:
S Closed ‘é""hl_POppet S Opening Pressure 1.6 Bar (23.2 PSI) CPO16  0.3kg (0.7 Ibs.)
caling T Opening Pressure 2.5 Bar (36.3 PSI) CP025 0.6 kg (1.3 Ibs.)
U  Opening Pressure 4.0 Bar (58.0 PSI) CP032  1.1kg (2.4 Ibs.)
CP040 1.7 kg (3.7 Ibs.)
CP050 3.7 kg (8.2 Ibs.)
CP063  7.1kg (15.7 Ibs.)

Cat3200_02.indd, ddp, 04/19

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US

Slip-in Cartridge Valves

Specifications Series CE, CP
General

Interface 2-way slip-in cartridge valves according to ISO 7368
Operation Hydraulic

Mounting Position Unrestricted

Ambient Temperature

-40°C to +60°C (-40°F to +140°F)

Hydraulic

Fluid

Hydraulic fluid according to DIN 51 524...525

Viscosity Recomended

30 to 80 cSt (mm?/s)

Viscosity Permitted

20 to 380 cSt (mm?/s)

Fluid Temperature

-20°C to +60°C (-4°F to +140°F)

Max. Contamination

ISO 4406 (1999); 18/16/13 (meet NAS 1638:7)

Operating Pressure

420 Bar (6090 PSI) without pilot valve

Ports A, B, X, Z1, Z2: 350 Bar (5075 PSI), 420 Bar (6090 PSI)
(depending on pmax of pilot valves)

Port Y: 350 Bar (5075 PSI), according to pilot system, maximum
(depending on pmax of pilot valves)

Nominal Size NG16 NG25 NG32 NG40 NG50 NG63 NG80 NG100
Nominal Flow LPM LPM LPM LPM LPM LPM LPM LPM
at Ap 5 Bar (73 PSI) (GPM) (GPM) (GPM) (GPM) (GPM) (GPM) (GPM) (GPM)
250 450 900 1350 1800 3600 5250 8000
poppet 01, 04,07} g6) (119) (238) (357) (476) (952) (1576) | (2116)
oopet 08 230 400 800 1250 1625 3400 5000 7500
Popp (61) (106) (212) (331) (430) (900) (1323) | (1984)
Pilot Volume Requirement cm? cm? cm? cm? cm? cm? cm? cm?
at poppet 01 2.0 6.5 10.2 17.4 34.5 77.4 190.1 342.6
at poppet 04 2.0 6.5 12.2 20.3 39.4 94.6 190.1 363.4
at poppet 07 2.0 6.5 10.2 17.4 34.5 77.4 — —
at poppet 08 2.0 7.4 15.3 23.2 49.2 111.8 217.3 415.3
Opening Pressure L= N = S= T= U=
Poppet 01 /07 spring: 0.1 Bar 0.5 Bar 1.6 Bar 2.5 Bar 4.0 Bar
(1.5PSI) | (7.3PSI) | (23.2PSI) | (36.3 PSI) | (58.0 PSI)
flow direction A - B L= N = S= T= U=
Poppet 04 / 08 spring: 0.2 Bar 0.9 Bar 2.7 Bar 4.0 Bar 6.6 Bar
(2.9PSI) | (13.1 PSI)| (39.2PSI) | (58.0 PSI) | (95.7 PSI)
Opening Pressure Poppet 01 /07 not possible
L = N = S = T = U =
flow direction B — A |Poppet 04 / 08 spring: 0.3 Bar 1.3 Bar 4.0 Bar 6.3 Bar 10.0 Bar
(4.4PSI) | (18.9PSI)| (58.0 PSI) | (91.4 PSI) | (145.0 PSI)
Cat3200_02.indd, ddp, 04/19
10 Parker Hannifin Corporation

Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US

Slip-in Cartridge Valves

Performance Curves Series CE, CP
Poppet 01, 04, 07* Poppet 08*
PSI Bar NG16 NG25 NG32 NG40 PSI Bar NG16 NG25 NG32 NG40

S /
RN ANAY
R4
NP

///
T

-

Pressure Differential

0

LPMO 250 500 750 1000 1250 1500 175Q

GPM 66 132 198 265 331 397 463.0
Volume Flow

Poppet 01, 04, 07*

PSI Bar
125410 N/GSO 763 780 NG100
_116| 8
[
(]
8 87| 6 / / /
£
. / / /
Q
& x| 2 / pd
,Z// ~
0 /
LPM 2000 4000 6000 8000 10000
GPM 529 1058 1587 2116 2646

Volume Flow

*

without spring and poppet seal, C-chamber unloaded

Cat3200_02.indd, ddp, 04/19

N ANANY
J LSS
/S /
]/

Pressure Differential

0 ]
LPM 0 250 500 750 1000 1250 1500 1 75(;
GPM 66 132 198 265 331 397 463.0
Volume Flow
Poppet 08*
Ps'k?gf NG50 NG63 NG80 NG100

N AA,
i) /
LSS

e
S

T

Pressure Differential

0
LPM 2000 4000 6000 8000 10000
GPM 529 1058 1587 2116 2646

Volume Flow

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Slip-in Cartridge Valves
Technical Information Series C*A

Ordering Information

ro
C A A
I I I I I I - | -
Cover Nominal Cover with Without Orifice Seals Design
Size X-Connection Auxiliary Series
and Function not required
Gauge Port — for ordering
Code  Description G1/4" Code Description
016 NG16 N Nitrile
025 NG25 Vv Fluorocarbon
032 NG32
040 NG40 Code Description Weight:
050 NG50 99 Without Orifice, CO16A 0.9 kg (2.0 Ibs.)
063 NG63 Open Orifice Options CO25A 1.9 kg (4.2 Ibs.)
080  NG80 e D - C032A 2.9 kg (6.4 Ibs.)
100 NG100 . { @ i CO40A 5.3 kg (11.7 Ibs.)
For orifice recommendations, bolt and seal kits L IX * i COS0A 8:5kg (187 Ibs.)
AI ! : lons, s, e - CO63A 15.5 kg (34.2 Ibs.)
see Accessories. Q Orifice position CO080A 34.0 kg (75.0 Ibs.)
. . C100A 58.0 kg (127.9 Ibs.)
Dimensions
Inch equivalents for millimeter dimensions are shown in (**)
NG16 to NG63 NG80 to NG100
Gauge port G14" Gauge port G14"
L —
x 0 Orifice x U Orifice
@) 1 @
& -
D | [P
B
Size B L Orifice Thread
65.0 36.0
NG16 (2.56) (1.42) 1/16 NPT
85.0 45.0
NG25 (3.35) (1.77) 1/16 NPT
102.0 50.0
NG32 (4.02) (1.97) 1/16 NPT
125.0 60.0
NG40 (4.92) (2.36) 1/8 NPT
140.0 70.0
NG50 (5.51) (2.76) 1/8 NPT
180.0 85.0
NG63 (7.09) (3.35) 1/8 NPT
@250.0 105.0
NG80 (9.84) (4.13) 1/8 NPT
@300.0 120.0
NG100 (11.81) 4.72) 1/8 NPT

Cat3200_02.indd, ddp, 04/19

12 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Technical Information Series C*B

Ordering Information

ro
? I ? I I I - | -
Cover Nominal Cover with Adjustment QOrifice Seals Design
Size X-Connection Series
and not required
Stroke for ordering
Limiter Code Description
Code  Description Code Description N Nitrile
016 NG16 Screw / v Fluorocarbon
N :
025 NG25 Spindle __
032 NG32 Knob E10 Code Description Weight:
040  NG40 Y lock, only 99 Without Orifice, CO16B 0.9 kg (2.0 Ibs.)
050 NG50 NG16-NG50 Open Orifice Options C025B 1.9 kg (4.2 Ibs.)
063 NG63 C032B  2.9kg (6.4 Ibs.)
080 NG80 C040B  5.4kg (11.91bs.)
100 NG100 C050B 8.4 kg (18.5 Ibs.)

C063B  15.1 kg (33.3 Ibs.)
CO080B  34.0 kg (75.0 Ibs.)

For orifice recommendations, bolt and seal kits, C100B  60.0 kg (132.3 Ibs.)

see Accessories.

Q Orifice position

Dimensions

Inch equivalents for millimeter dimensions are shown in (**)

NG16 to NG25 - Adjustment N AdjustmentY

Orifice

®) | @
@) | -
D) |

(®)

4.0
(0.16)
Size B L1 L2 max. L4 max. Gauge Port Orifice Thread
NG16 65.0 36.0 72.0 100.0
(2.56) (1.42) (2.83) (3.94) G 1/4" M6
NG25 85.0 45.0 72.0 100.0
(3.35) 1.77) (2.83) (3.94)

Cat3200_02.indd, ddp, 04/19

13 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US

Slip-in Cartridge Valves

Dimensions Series C*B

Inch equivalents for millimeter dimensions are shown in (**)

NG32 to NG50

Adjustment N AdjustmentY (NG32) AdjustmentY (NG40/50)

NG63
Adjustment N

[l Ihy,u,_l ‘
[l Ve
’./‘-I
X

Orifice

@) |

&)

>
|

@)

(&)

NG80 to 100
Adjustment N

Gauge port

(04..106) — B (51. '106)
Size B L1 L2 max. L3 L4 max. Gauge Port Orifice Thread
NG32 (@02 (o (1.89) - 50 1116 NPT
NG40 wo2) eae) | (en | ey - 1/16 NPT
NGs0 651 @70 (o7 .00 - - 116 NPT
NG63 (7.00) 339 59 - - 4 1/8 NPT
v |0 | me |
S v A A e
Cat3200_02.indd, ddp, 04/19
14 Parker Hannifin Corporation

Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Technical Information Series C*C

Ordering Information

ro
c c A L
I I I I I |
Cover Nominal Cover Without Cb @ @ @ Seals Design
Size for Auxiliary Orifice / Choke Series
Pilot System Function not required
Mounting for ordering
Code  Description Code Description
016 NG16 N Nitrile
025 NG25 \ Fluorocarbon
032 NG32
040 NG40 Code Description
050 NG50 99 Without Orifice,
063 NG63 Open Orifice Options
080 NG80 00 Plug, Closed
100 NG100 Orifice Options Weight:

. NG16toNG40 C016C  1.0kg (2.12 Ibs.)
Attention: DR T BT C025C  1.9kg (4.20 Ibs.)
For NG50 and larger: OO i I C032C 2.9 kg (6.40 Ibs.)
If pilot system NG6 is used, mount L oL@ C040C  5.3kg (11.70 Ibs.)

1 1 1 1 1 1
adapter plate PADA1007/A-B/B-A or Iy R TR C050C 8.5 kg (18.70 Ibs.)
PADA1007/A-A/B-B (NG6 to NG10) NG50 to NG100 C063C  15.3kg (33.70 Ibs.)
B s S B AR C080C  34.0kg (75.0 Ibs.)
on cover. e o o P O C100C  60.0 kg (132.30 Ibs.)
; !
For orifice recommendations, bolt and seal kits, P E®i - b
. 1 1 1 x x 1 1 |
see Accessories. '_._.>S.:_._.'_Y_.: _____ l_ZJ;_._;ZZ_.J
O Orifice position
Dimensions
Inch equivalents for millimeter dimensions are shown in (**)
NG16
Section A-A Section B-B Section C-C
A
! ! Gauge
port
40.0
(1.57)

), [©

B
&
(2.56) - 5
T &
o d @
DS s &
B Co|
79.0
(3.11)

Cat3200_02.indd, ddp, 04/19

15 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Slip-in Cartridge Valves
Dimensions Series C*C

Inch equivalents for millimeter dimensions are shown in (**)

NG25 to NG40

Section A-A Section B-B
A B

Gauge
port __| |
I
@ I

”é

(<]

> 9

B | } A
P ‘\ /l

4.0 _|
(0.16) B
NG50 to NG63
Section A-A Section B-B Section C-C
P A B
Gauge i .
port | !
L — l —
IL
X U Zy Z4
2 1

Cat3200_02.indd, ddp, 04/19

16 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Slip-in Cartridge Valves
Dimensions Series C*C

Inch equivalents for millimeter dimensions are shown in (**)

NG80 to NG100

Section A-A Section B-B Section C-C
P T ) A
HEE Gauge
[ port
L I [ [
1 )
h X 0 Y
Gauge @ @
4.0 port C
0.16) oy
|
B /79
A A
e |
|
B C
Orifice Thread
Size B L Gauge Port @ @ @ @
79.0" 40.0
NG16 3.11) (1.57) M5 M5 M5 M5
85.0 45.0
NG25 (3.35) (1.77) M5 M5 M6 M6
102.0 50.0
NG32 (4.02) (1.97) M5 M5 M6 M6
125.0 60.0
NG40 (4.92) (2.36) e M5 M5 M6 M6
/4
140.0 70.0
NG50 (5.51) (2.76) M6 M6 M8 M8
180.0 85.0
NG63 (7.09) (3.35) M6 M6 M8 M8
@250.0 105.0
NG80 9.81) (4.13) 1/16 NPT 1/16 NPT M10x1 M10x1
@300.0 120.0
NG100 (11.81) (4.72) 1/16 NPT 1/16 NPT M10x1 M10x1

" Width 65m (2.56 in.)

Cat3200_02.indd, ddp, 04/19

17 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Technical Information Series C*F with Relief

Ordering Information

C F
I I I I I I I
Cover Nominal Cover Pressure Pressure d} @ @ Seals Design
Size with . Range Adjustment Orifice / Choke Series
Pressure Relief not required
Valve for ordering
Code  Description Code Description
016 NG16 Code Description N Nitrile
025 NG25 07 75 Bar (1088 PSI) V___ Fluorocarbon
032 NG32 10 105 Bar (1522 PSI)
17 175 Bar (2538 PSI) Code Description
21 210 Bar (3000 PSI) 99  Without Orifice, Open Orifice Options
25 250 Bar (3625 PSI) 00  Plug, Closed Orifice Options
35 350 Bar (5075 PSI) S \
I
Code Description i
s Screw with :
LOCkNUt L L 1-.L. 1 _I
L Knob E10 Lock X 21 C z22°Y
For orifice recommendations, bolt and Q Orifice position

seal kits, see Accessories in this chapter.

Dimensions

Inch equivalents for millimeter dimensions are shown in (**)

Hand Knob

! il
T _ %’{h‘\g.nll

O] l |

[ = —| Key Lock
X é) é C @ Y
| L3 25.0
' ' " 0.98
Ports Z1 and Z2: O-ring recess diameter on valve body
Orifice Thread
Size B H L1 L2 max. L3 max. L4 @ @
65.0 40.0 32,5 114.0 125.5 79.0
NG16 (2.56) (1.57) (1.28) (4.49) (4.94) 3.11) M5 M4
85.0 45.0 425 102.0 114.0 85.0
NG25 (3.35) (1.77) (1.68) (4.02) (4.49) (3.35) M5 M5
102.0 50.0 51.0 95.0 106.0 102.0
NG32 (4.02) (1.97) (2.01) (3.74) (4.17) (4.02) M5 M6

Cat3200_02.indd, ddp, 04/19

18 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US
Technical Information

Slip-in Cartridge Valves
Series C*G with Relief

Ordering Information

C
I I
Cover Nominal
Size
Code  Description
016 NG16
025 NG25
032 NG32

G
I I I I
Cover Pressure Pressure @ @ @ Seals
with Range Adjustment Orifice / Choke
Pressure Relief
and
Pilot System Code Description
Mounting N Nitrile
Code  Description v Fluorocarbon
07 75 Bar (1088 PSI) —
10 105 Bar (1522 PSI) Code  Description - _
17 175 Bar (2538 PS|) 99  Without Orifice, .O.pen Olfmce Options
21 210 Bar (3000 PSI) 00  Plug, Closed Orifice Options
25 250 Bar (3625 PSI) P_A_B_T,
35 350 Bar (5075 PSI) i
|
Code Description :
s Screw with i
Lock Nut
L Knob E10 Lock O Orifice position

For orifice recommendations, bolt and seal kits, see Accessories.

Dimensions
Inch equivalents for millimeter dimensions are shown in (**)

Hand Knob

Key Lock

r 7

I_IJ

Design
Series
not required
for ordering

25.0
' " 0.98
Orifice Thread
Size B H L1 L2 max. L3 max. L4 @ @ @ @
65.0 40.0 325 114.0 1255 79.0
NG16 (2.56) (1.57) (1.28) (4.49) (4.94) 3.11) M5 M5 M4 M5
85.0 45.0 425 102.0 114.0 85.0
NG25 (3.35) (1.77) (1.68) (4.02) (4.49) (3.35) M5 M5 M5 M5
102.0 50.0 51.0 95.0 106.0 102.0
NG32 (4.02) (1.97) (2.01) (3.74) (4.17) (4.02) M6 M6 M6 M6
Cat3200_02.indd, ddp, 04/19
19 Parker Hannifin Corporation

Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Dimensions Series C*H with Stroke Limiter

Ordering Information

C H N N
I I I I I I
Cover Nominal Cover Screws Cb @ @ @ Seals Design
Size with Stroke with o Series
Limiter and DC Lock Nut Orifice 1 Choke not required
Valve Mounting for ordering
Code  Description Pattern Code Description
016  NG16 N Nitrile
025 NG25
032 NG32
040 NG40
050 NG50 Code Description
063 NG63 99  Without Orifice, Open Orifice Options
080 NG80 00  Plug, Closed Orifice Options
100 NG100

Q Orifice position

For NG63, 80 and 100: If pilot system NG06 should be used,
mount adapter plate PADA 1007/A-B/B-A or PADA 1007 A-A/B-B
(NG10 to NGO06), see Accessories in this chapter.

For orifice recommendations, bolt and seal kits, see Accessories
in this chapter.

Cat3200_02.indd, ddp, 04/19

20 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Dimensions Series C*H with Stroke Limiter

Inch equivalents for millimeter dimensions are shown in (**)

NG16

Gauge Port

Section A-A

Z1 z2

NG25 to NG63
Section A-A
Gauge Port

!

i 0 |
-
A D C[Y
LY -
ST
N

Cat3200_02.indd, ddp, 04/19

21 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Slip-in Cartridge Valves
Dimensions Series C*H with Stroke Limiter

Inch equivalents for millimeter dimensions are shown in (**)

NG80 to NG100

Section X
AF30
Gauge Port
3.5 \ ©B 35
(0.14) (0.14)
AF55
H
ol
I
ol $$P
h b & , -
htl o+ B ] %-H
P 4 4+ 7
b T
. N :
72 @/ Uz B1
t Lifting Eye Bolt
M12-DIN 580
*
Section X
(]
i Gauge Orifice Thread
Size B B1 H h h1 t Port @ @ @ @
65.0 125.0 85.0 76.0 27.0
NG16 (2.56) - (4.92) (3.35) (2.99) (1.06) G1/4 M5 M5 M5 MS
85.0 114.0 85.0 70.0 36.5
NG25 (33.5) - (4.49) (3.35) (2.76) (1.44) G1/4 M6 M6 Mé M6
102.0 132.5 85.0 56.0 475
NG32 (4.02) - (5.22) (3.35) (2.20) (1.87) G1/4 M6 M6 M6 M6
125.0 142.0 85.0 50.0 64.0
NG40 4.92) — (5.59) (3.95) (1.97) (2.52) G1/4 M6 M6 M6 M6
140.0 1475 85.0 60.0 72.5
NG50 (5.51) - (5.81) (3.35) (2.36) (2.85) G1/4 M8 M8 M8 M8
180.0 161.0 110.0 75.0 90.0
NG63 (7.09) - (6.34) (4.33) (2.95) (3.54) G1/4 M8 M8 M8 M8
0250.0 119.0 215.0 120.0 94.0 122.0
NG80 ©.64) (4.69) (8.45) 472) (3.70) (4.60) G1/4 1/8NPT | 1/8NPT | 1/8NPT | 1/8NPT
©300.0 144.0 240.0 120.0 85.0 145.0
NG100 11.81) (5.67) (0.45) 4.72) (3.95) 5.71) Gi1/4 1/8NPT | 1/8NPT | 1/8NPT | 1/8NPT

Cat3200_02.indd, ddp, 04/19

22 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US
Technical Information

Slip-in Cartridge Valves
Series C*V with Shuttle Valve

Ordering Information

C \' A
Coller Norr|1inal Co{/er Witr|10ut
Size with Additional
Shuttle Valve Option
Code  Description

016 NG16
025 NG25
032 NG32
040 NG40
050 NG50
063 NG63

For orifice recommendations, bolt and seal kits,
see Accessories.

Dimensions
Inch equivalents for millimeter dimensions are shown in (**)

I
O OO ® s
Orifice / Choke
Code Description
N Nitrile
V Fluorocarbon
Code Description
99  Without Orifice, Open Orifice Options

X
() orifice position

Section A-A

4

r 7

LIJ

Design
Series
not required
for ordering

B -’:J:—':l P il
¥ e . T
Al & & A
i i Port Z2: O-ring recess diameter on valve body
! L !
ik L /| ©]
4.0
(0.16) L1 '
Orifice Thread
Size B H L1 @ @ @ @
NG16 65.0 (2.56) 86.5 (3.41) 85.0 (3.35) M5 M5 M5 M5
NG25 85.0 (3.35) 91.5 (3.60) 85.0 (3.35) M5 M5 M5 M5
NG32 102.0 (4.02) 96.5 (3.80) 102.0 (4.02) M5 M5 M5 M5
NG40 125.0 (4.92) 106.5 (4.19) 125.0 (4.92) M6 M6 M6 M6
NG50 140.0 (5.51) 126.5 (4.98) 140.0 (5.51) M8 M8 M8 M8
NG63 180.0 (7.09) 141.0 (5.55) 180.0 (7.09) M8 M8 M8 M8

Cat3200_02.indd, ddp, 04/19

23

Parker Hannifin Corporation
Hydraulic Valve Division

Elyria, Ohio, USA



Catalog MSG14-3200/US
Technical Information

Slip-in Cartridge Valves
Series C*W with Shuttle Valve

Ordering Information

C w
Coller Non|1inal Co{/er
Size with
Shuttle Valve
and Pilot System
Code  Description Mounting
016 NG16
025 NG25
032 NG32
040 NG40
050 NG50
063 NG63

A

I
Without
Additional
Option

For orifice recommendations, bolt and seal kits,

see Accessories.

Dimensions

Inch equivalents for millimeter dimensions are shown in (**)

os]
1

>
(
!/
1
e

——%
@;f

I
O Ole@® s
Orifice / Choke
Code Description
N Nitrile
V Fluorocarbon

Code Description
99

Without Orifice, Open Orifice Options

O Orifice position

Section A-A @ II:’

?.| = n

[T

For NG50, NG63
) L2
- -

N T$ N
Sl ge 0, i

| " e % e

r 7

LIJ

Design
Series
not required
for ordering

g
0 L1 |
(0.16) 40 @
(0.16) . E'
Port Z2: O-ring recess diameter on valve body
Size B H L1 Orifice Thread
NG16 65.0 (2.56) 40.0 (1.57) 79.0 (3.11) M5 M5 M5 M5
NG25 85.0 (3.35) 45.0 (1.77) 85.0 (3.35) M5 M5 M5 M5
NG32 102.0 (4.02) 50.0 (1.97) 102.0 (4.02) M5 M5 M5 M5
NG40 125.0 (4.92) 60.0 (2.36) 125.0 (4.92) M6 M6 M6 M6
NG50 140.0 (5.51) 70.0 (2.76) 140.0 (5.51) M8 M8 M8 M8
NG63 180.0 (7.09) 85.0 (3.35) 180.0 (7.09) M8 M8 M8 M8
Cat3200_02.indd, ddp, 04/19
24 Parker Hannifin Corporation

Hydraulic Valve Division

Elyria, Ohio, USA



Catalog MSG14-3200/US Slip-in Cartridge Valves
Technical Information Accessories

Pilot Valve with Pressure Relief
Function RO6M

Subplate Mounting NG6

(see Combination Examples)
MTTFvalue 150 years

Ordering Information

7
RO6M T T ‘II. T I_IJ
Pressure Pressure Pilot Seal Design
Range Adjustment 0il Series
NOTE:
Not required
Code Description Code Description Code Description when ordering.
10 105 Bar (1523 PSI) S Hand knob (standard) N Nitrile
17 175 Bar (2538 PSI) L Key lock \ Fluorocarbon
21 210 Bar (3045 PSI)
25 250 Bar (3625 PSlI)
35 350 Bar (5075 PSI)
Dimensions RO6M
72.0
75 [ 160 (283
(0.30) ' <_—|—(0-63)
A
o2
460 ||® & -
(1.81) A"
Ean
‘ ,—‘@ P N
| Hand Knob
? S TJ L
P
432 [ A~
~ 7
l (150 |11 =
' =@ T Key Lock
153.3 ol ol 260
(6.04) (1.02)

Replaces DSDA (P07)

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB5Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

25 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Slip-in Cartridge Valves
Accessories

Pilot Valve with Pressure Relief
Function RS06M

Sandwich Plate Mounting NG6
(see Combination Examples)
MTTFvalue 150 years

Ordering Information

7
RS06M T T ‘II. T I_IJ
Pressure Pressure Pilot Seal Design
Range Adjustment 0il Series
NOTE:
Not required
Code Description Code Description Code Description when ordering.
10 105 Bar (1523 PSI) S Hand knob (standard) N Nitrile
17 175 Bar (2538 PSI) L Key lock Vv Fluorocarbon
21 210 Bar (3045 PSI)
25 250 Bar (3625 PSI)
35 350 Bar (5075 PSI)
Dimensions RS06M
72.0
75 _ 160 (2.83) " "1
(0.30) (0.63)
T A\
46.0 !
(1.81) AV .~ 1B
THt
f i
|
| 142.0 Hand Knob
) (5.59) )
P r1 N
43.2 1_ |
(1.70) 38.0 I
l (1.50)| |l
| =l T Key Lock
153.3 ol 1260
(6.04) (1.02)

Replaces DSDA (207)

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB65Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

—Parker .

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Slip-in Cartridge Valves
Accessories

Pilot Valve with Proportional Relief

Function

RPDM2*

Sandwich Mounting NG6
(see Combination Examples)
MTTFvalue 150 years

* For technical details see Series REO6M*W.

Ordering Information

[
RFDM 2 . . . \
Pressure Pressure Pressure Solenoid Seal Design
Adjustment Relief Range Voltage Fluorocarbon Series
NOTE:
Not required
Code Description Code Description Code Description when ordering.
AT AtoT 10 105 Bar (1523 PSI) K 12V, 2.3A
PT PtoT 17 175 Bar (2538 PSI) X 16V, 1.3A
25 250 Bar (3625 PSI)
35 350 Bar (5075 PSI)
Dimensions RPDM2
15.0
(0.59)
) — T - 1
Connection plug | :
according to EN175301-803 —_ A
TEITThg
9.0 =:AST hra Important:
s~ BE== A{‘E' On initial start up
053 J_"_PH_ RS 93.0 and after long shut down
© 2'1) PG 11 (3.66) periods, bleed air from this plug
1T | ___J — - )
42.0 I'H | e I T 310 @T @iabzxsl =
(1.81) _ll !? 46.0 (1220 A B (1_2'8) H- —
LH l | (1 81) i ! o -
=g th o ol
22.0 | 1/16’"NPT 18.0 | 40.5 18.5
(0.87) _ %95 T HorpT) 113.0 (0.71) (;.75(9)) (0.73)
(1.56) 163.0 (4.45) f—— (3_0'3) R —
(6.42)

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB5Warnings.ca.gov.
Cat3200_02.indd, ddp, 04/19

27

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Technical Information Accessories

Sandwich Valve with Pressure Relief
Function ZUD*AT*Z*

Sandwich Plate Mounting NG6

(see Combination Examples)
MTTFvalue 150 years

m — [zuDB1AT 207
I T
Seal Pressure Pressure
| Adjustment Range
| |
Code Description Code Description Code Description
Omit  Nitrile > Hexagon Screw B 70 Bar (1015 PSI)
V  Fluorocarbon with Locknut E 175 Bar (2538 PSI)
61 Knob E10 Lock G 250 Bar (3625 PSI)
K 350 Bar (5075 PSI)
7.5 C — 74.0 —
(0.30) 17,0 @91
~"T1(0.67)

} ] !

Y
43.2 e R 46.0 =
Shet = B =l o6 B
‘ P Ll > - ‘ ‘ o

- F— —o

| 130.0
(5.12)

Sandwich Valve with Pressure Relief
Function ZUD*PT*Z*

Sandwich Plate Mounting NG6

(see Combination Examples)

MTTF value 150 years

m — [zupbB1PT 207
I T
Seal Pressure Pressure
| Adjustment Range
| |
Code Description Code Description Code Description
Omit  Nitrile 5 Hexagon Screw B 70 Bar (1015 PSI)
V. Fluorocarbon with Locknut E 175 Bar (2538 PSI)
61 Knob E10 Lock G 250 Bar (3625 PSI)
K

350 Bar (5075 PSI)

75 o 740

(0.30) | 170 29N

~"1(0.67)
f }

_rm
32 1 = | H 460 | ~
ECRyes Bl 9 —[ _H (1.81) B T E
Py L T ~ ‘ 7 ad

[ 130.0

- F— —o

(5.12)

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to

cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB65Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

28 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Slip-in Cartridge Valves

Accessories

Pilot Valve with Preload Function DSB*P*
Subplate Mounting NG6

(see Combination Examples)
MTTFvalue 150 years

m — |DsBA100 P07
I T
Seal Pressure Pressure
Adjustment Range
Code Description Code Description Code Description
Omit  Nitrile 5 Hexagon Screw B 70 Bar (1015 PSI)
V. Fluorocarbon with Locknut E 175 Bar (2538 PSI)
61 Knob E10 Lock G 250 Bar (3625 PSI)
K 350 Bar (5075 PSI)
75 74.0
(0.30) ] 17.0 (2.91)
~7(0.67)
[
! 7 - H
43.2 380 ||| = __[ __H 46.0 || 41‘TI e L E
a. 70)(1 50) Il 9 (1.81) AST,iB
| 1 I/ +- + T
1 ! T ‘ P
[ 130.0 N
(5.12)

Pilot Valve with Preload Function DSB*Z*
Sandwich Plate Mounting NG6

(see Combination Examples)

MTTF value 150 years

m — [DSBA100 207
I T
Seal Pressure Pressure
| Adjustment Range
| |
Code Description Code Description Code Description
Omit  Nitrile 5 Hexagon Screw B 70 Bar (1015 PSI)
V. Fluorocarbon with Locknut E 175 Bar (2538 PSI)
61  Knob E10 Lock G 250 Bar (3625 PSI)
K 350 Bar (5075 PSI)
75  ja— 74.0 —
(0.30) 170 @91
(o 67)
L
! L - !
432 |[[e==
380 __|: 3 E 46.0 | L
(. 70)(1 sol |1 ° (1.81) A «B E
‘ : 1 -L T
Vo LT Y i
B 130.0 _
(5.12) )

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB5Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

29

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Technical Information Accessories

Pilot Valve with Unloading Function UR0O6M
Subplate Mounting NG6

(see Combination Examples)

MTTFvalue 150 years

UR||06|| M 4

I I I I
Pressure Pressure  Pilot Qil Drain Seal
Range Adjustment Internal

Code Description Code Description 75 . : 72.0
07 70 Bar (1015 PSI) S Hand knob 030} == 066-% (2.83)
17  175Bar (2538 PSI)|| L  Key lock '
25 250 Bar (3625 PSI) f ﬁiml
35 350 Bar (5075 PSI) Code Description 46.0 |le 1_;_1 i T
N Nitrile (1.81) AR5 'B_0
ST
Vv Fluorocarbon ‘ h P
| 142.0 Hand Knob' |
(5.59)
T L
|
‘1‘37'3 3go| |l
(1.70) 1 50| Il
b .
Key Lock
| 153.3 26.0
Replaces DAFA (P07) (6.04) ' 7(1.02)

Pilot Valve with Unloading Function US06M
Subplate Mounting NG6

(see Combination Examples)

MTTF value 150 years

US||06|| M 4

T T T T
Pressure Pressure  Pilot Qil Drain Seal
Range Adjustment Internal

| |
— — 72.0
D o
Code Description Code Description 7.5 16.0 (2.83)

07 70 Bar (1015 PSI) S Hand knob (0.30)] <——r(0 63)

17 175Bar (2538 PSl)|| L  Key lock I

25 250 Bar (3625 PSI) _ . Z

35 350 Bar (5075 PS) Code Description (1.81) e —
N Nitrile
Vv Fluorocarbon ‘

142.0 Hand Knob' |

(5.59)
[
+

153.3 Key Lock | | 26.0

Replaces DAFA (Z07) (6.04) (1.02)

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB65Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

30 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Technical Information Accessories

Pilot Valve with Pressure Sequence
Function SO6M

Subplate Mounting NG6

(see Combination Examples)
MTTFvalue 150 years

Ordering Information

7
S0oN . . : .
Pressure Pressure Pilot Qil Seal Design
Range Adjustment Inlet Internal/ Series
Outlet Internal NOTE:
Not required
Code Description Code Description Code Description when ordering.
10 105 Bar (1523 PSI) S Hand knob (standard) N Nitrile
17 175 Bar (2538 PSI) L Key lock \ Fluorocarbon
21 210 Bar (3045 PSI)
25 250 Bar (3625 PSI)
35 350 Bar (5075 PSI)

Dimensions S06M

72.0
75 T 16.0 (2.83)
0300y =™ (0.63)

460 |[|® &
v

(1.51) AT~
it
I B
|
| Hand Knob
T S TJ 4
43.2 |1
(1.70) 38.0 [
l (1.50)| |l
' =@iu T Key Lock
- 153.3 o | 260
(6.04) (1.02)

Replaces DNLA

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB5Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

31 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Technical Information Accessories

Check Valve
Hydraulically Pilot Operated NG6

Size NG6 with pilot control for subplate assembly

Ordering Information
SVLA1006P07

Dimension A B C D E F

mm 920 | 432 | 740 | 170 | 460 | 75
(in.) 3.62) | (1.70) | 2.91) | (0.67) | (1.81) | (0.30)

Shuttle Valve
Sandwich Plate NG6 [
Size NG6 with pilot control for subplate assembly B
Ordering Information ]
ZSRA1PP0Z07
E
Dimension A B C D E F
mm 80.0 | 432 | 740 | 17.0 | 46.0 75
(in.) (3.15) | (1.70) | (2.91) | (0.67) | (1.81) | (0.30)

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB65Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

32 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Slip-in Cartridge Valves
Accessories

Shuttle Valve
Sandwich Plate NG6

Size NG6 with pilot control for subplate assembly

B
Ordering Information ]
ZSRB1AA0Z07
|
N L V- R {
| | -
| | |
L A 1B T
T - - Dimension A B Cc D E F
mm 80.0 43.2 74.0 17.0 46.0 7.5
(in.) (3.15) | (1.70) | 2.91) | (0.67) | (1.81) | (0.30)

Adapter Plate
Size NG6 to NG10

T

Ordering Information

PADA1007/A-A/B-B

o-———2@,

S

—_— ———

A P
70.0
L6 . & > I @
! T &P 2x M8 B A
31.0 46.0
(1.22) @ %B/ (@7.0) (1.81) T @@ T
| n 0.28 !
\ = P % ( 311.0 A &
% 7 (0.43) N,
19.5 | 27.8 17.0 12.0 ] 54.0
(0.77) " =" 1.09 96.0 | (067) 25,60'47) 210 (2.13)
(3.78) (0.98) (0.83)

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB65Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

33 Parker Hannifin Corporation
Hydraulic Valve Division

Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves
Technical Information Accessories

Adapter Plate
Size NG6 to NG10

T T Q @
Ordering Information ,_P: T: ° \/ b
‘ [ (/X\\ ‘
A !
PADA1007/A-B/B-A S S S -

51 9, & - &

©
2x M8
31.0 —— 46.0 @ @;
e A@ @é/ 028 (181 ' @@
1
4

{ ParY {B' $ $ — ° A B
f§l P YT '91 .0} Yy
\\/j 1 1(0.43) | SV -
Yy = 1 i P
195 | |_278 | 17.0 12o0] | [ 540
077y~ (1.09) 96.0 | 067 250 0477 [Z10 @13
(3.78) ~0.98)" (0.83)
Attention:

For NG50 and larger: If pilot system NG6 is used, mount adapter plate PADA1007/A-B/B-A
or PADA1007/A-A/B-B (NG6 to NG10) on cover.

Adapter Plate: PADA1007/A-B/B-A or PADA1007/A-A/B-B
Sealing Kit: SK-PADA 1007
Bolt Kit: BK136

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB5Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

34 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves

Technical Information Accessories
Symbol Type Size Height
CETOP 3/NG06
P A B T ,—ValveSide
’7 25.0mm
! | PADA1007/A-A/B-B NG6-NG10 0.98in)
—F A B T = Manifold Side
CETOP 5/NG10
CETOP 3/NG06
P A B T y—Valve Side
’7 25.0mm
! | PADA1007/A-B/B-A NG6-NG10 0.981in)
P A B T =—Manifold Side
CETOP 5/NG10
P A B T | valveSide
P T 30.0mm
a1/ 61 H06-1044 NG6 (1.481n)
T A B T "™Manifold Side
. P A . B T .v— Valve Side
A B 30.0mm
G1/4 7 * * _G1/4 H06-1039 NG6 (1.18in.)
A B Manifold Side
A B

yv— Valve Side

L
P T
P T
P L —‘ HO6-504 NG6 80.0mm

G3/8" (1.18in.)

T . .
=) A B T "—Manifold Side

P A B T —valeSide

’7 . 30.0mm
| 6o H06-711 NG6 (1.18in.)
L . - T
P A B T “—Manifold Side
P A B T | valeSide
y [ 30.0mm
G1/4~ . H06-1274 NG6 (1.181in.)
TP A B T ™Manifold Side
’7 P A B T | valeSide
L . - . .
) A B T "~——Manifold Side 30.0mm
H06-1040 NG6 ,
; . 5 ; (1.181n.)

.v— Valve Side

P A B T "—Manifold Side

Cat3200_02.indd, ddp, 04/19

35 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Slip-in Cartridge Valves

Technical Information Accessories
Symbol Type Size Height
. P A . B T .v— Valve Side
’7 10.0mm
. HO06DO-1291 NG6 (0.391in.)
B B T "~ Manifold Side

A B T ,—vValveSide

g CETOP 3/NG06

"A B T —Manifold Side

RIEN N

HO6DU-814 NG6 (721é31”;rf‘)
A B T —valeSide ' '
B
CETOP 3/NGO6 ,
T A B T ™™ Manifold Side
.v— Valve Side
B 25.4mm
> SAE4 SPD2T2SWS35 NG6 Gooim
"~ Manifold Side
CS06082N NG6 (‘ﬁoé’%”i":“)
T S8 ¥ ™Manifold Side
. —‘ SPD2A1"NS35 NG6 (109%”;’]“)
L . )Y .
2 R 8 ¢ ™Manifold Side
’7 —‘ 26.3mm

) ,__l _ D51VP071D NG6 (1.04in.)

P A B T ~—Manifold Side

’7 —‘ SPD2C1*NS35 NG6 19.1mm (0.75 in.)
- SPD3C1*NS35 NG10 19.1mm (0.75 in.)

P A B T "—Manifold Side

Cat3200_02.indd, ddp, 04/19

36 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US

Technical Information

Slip-in Cartridge Valves
Series CE, C,CP

Poppets, Cages, Spacer Rings

normally closed (C, S)

normally open (F)

. 4 Spring
Spacer Ring Retainer
— Distance
—— Sleeve Piece
Poppet Washer
Snap Ring
B
Bolt
Size NG16 NG25 NG32 NG40 NG50 NG63 NG80 NG100
Poppet 01 | RK-45036369 | RK-45036379 | RK-45036392 | RK-45036409 | RK-45036421 | RK-45036437 | RK-35036449 | RK-35036467
Poppet 04 | RK-45036370 | RK-45036380 | RK-45036395 | RK-45036406 | RK-45036422 | RK-45036436 | RK-35036460 | RK-35036468
Poppet 07 | RK-35037531 | RK-45036964 | RK-45036965 | RK-45036966 | RK-45036967 | RK-45036968 — —
Poppet 08 | RK-45036368 | RK-45036381 | RK-45036391 | RK-45036408 | RK-45036424 | RK-45036438 | RK-35036459 | RK-35036469
CE-Sleeve | RK-35038871 | RK-35038872 | RK-35038873 | RK-35036403 | RK-35036417 | RK-35036432 | RK-25036452 | RK-25036470
CP-Sleeve | RK-35039384 | RK-35039385 | RK-35039386 | RK-35039387 | RK-35039388 | RK-35039389 — —
Spacer Ring | RK-35036364 | RK-35036375 | RK-35036393 | RK-35036402 | RK-35036416 | RK-35036435 | RK-25036453 | RK-25036471
Spare Parts
No Description Part Number
) P CEO016 CEO025 CE032 CEO040 CEO050 CE063 CE080 CE100
20 |Cage 35036363 | 35036377 | 35036389 | 35036403 | 35036417 | 25036432 | 25036452 | 25036470
Poppet 01 45036369 | 45036379 | 45036392 | 45036409 | 45036421 | 45036437 | 35036449 | 35036467
21 Poppet 04 45036370 | 45036380 | 45036395 | 45036406 | 45036422 | 45036436 | 35036460 | 35036468
Poppet 07 - 45036964 | 45036965 | 45036966 | 45036967 | 45036968 — —
Poppet 08 45036368 | 45036381 | 45036391 | 45036408 | 45036424 | 45036438 | 35036459 | 35036469
Spring L 0.1 Bar (1 PSI)| 45051368 | 45051375 | 45051376 | 45051382 | 45051384 | 45051388 | 45051395 | 45051400
23 Spring N 0.5 Bar (7 PSI)| 45051369 | 45051374 | 45051377 | 45051381 | 45051385 | 45051389 | 45051396 | 45051401
Spring S 1.6 Bar (23 PSI)| 45051370 | 45051372 | 45051378 | 45051380 | 45051386 | 45051390 | 45051397 | 45051402
Spring U 4.0 Bar (58 PSI)| 45051371 | 45051373 | 45051379 | 45051383 | 45051387 | 45051391 | 45051398 | 45051403
23a [Spring L 0.1 Bar (1 PSI)| 45051435 | 45051436 | 45051429 | 45051433 | 45051432 | 45051430 | 45051431 | 45051428
22 (Retainer 35036364 | 45036375 | 45036393 | 35036402 | 35036416 | 35036435 | 25036453 | 25036471
O-Ring Nitrile N 552-90 5000934 5000971 5000976 5000980 5000984 5000988 5002481 5001004
29 Fluorocarbon V 747-90 5001038 5001066 5001070 5001074 5001078 5001082 5002485 5002526
2-155 2-213 2-218 2-222 2-226 2-231 2-339 2-345
0O-Ring Nitrile N 552-90 5000916 5000948 5000957 5000988 5000992 5000966 5002481 5001008
27 Fluorocarbon V 747-90 5001026 5001090 5001059 5001082 5001085 5001093 5002485 5001094
2-2024 2-129 2-139 2-231 2-236 2-246 2-355 2-439
. 5001147 | 5002576 | 5001157 | 5001161 | 5002483 | 5002478
28 |Backup Ring N 300-90 - - 8-139 8-231 8-236 8-246 8-355 8-439
O-Ring Nitrile N 552-90 5000912 5000941 5000948 5000983 5000965 5000992 5002480 5002476
25 Fluorocarbon V 747-90 5001022 5001045 5001090 5001077 5001091 2001085 5002484 5002479
2-020 2-122 2-129 2-225 2-229 2-236 2-344 2-352
. 5001143 5001163 5001162 5001157 5002482 5002477
26 |Backup Ring N 300-90 - - 8-129 8-225 8-229 8-236 8-344 8-352
32
33 Poppet Seal Kit  Nitrile only - 46212761 | 46212762 | 46212763 | 46212764 | 46212765 | 46212766 | 46212767
Seal Kits
No. | Variation Material Part Number
’ CEO016 CE025 CE032 CE040 CE050 CE063 CE080 CE100
25 |cand F Nitrile SK-CBE SK-CBE SK-CBE SK-CBE SK-CBE SK-CBE SK-CBE SK-CBE
to 160 250 320 400 500 630 800 1000
29 |candF Fluorocarbon SK-CBE SK-CBE SK-CBE SK-CBE SK-CBE SK-CBE SK-CBE SK-CBE
160V 250V 320V 400V 500V 630V 800V 1000V
Cat3200_02.indd, ddp, 04/19
37 Parker Hannifin Corporation

Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Slip-in Cartridge Valves

Technical Information Series CE, C, CP
Diagram to Choose the Orifice @
Orifice @ mm (in.)
0.5 0.6 0.7 0.8 1.0 1.2 1.5 2.0 25 3.00
PSI Bar (0.02) (0.02) (0.03)(0.03)  (0.04) (0.05) (0.06) (0.08) (0.10)  (0.12)
5800 1400 7 7 T 7 7 7 7 7 17
)4 7 y, VAR 4 4
4350 300 I’ I” I’ - /- y 4 I” y 4 I” ”
2900 |200 S - - ~ ~ = 7-
4 4 y4 / y4
4 y4 y4 J
4 y4 y4 y V4 y 4 4
1as0 |10 LT AT LT/ / / 174 7
4 4 y4 y4 y4 y4
T 4 y4 y 4 4 A y4
2 / / 4 / 4 /
8 o5 | s0o A AT S A1 y /117
§ 580 | 40 [ A 7 // / / 7 // /
3 435 | 30 // 7 /’ // 4 /'
5 290 | 20 ,/ / / / / // 4
(]
a // // / /|
/ y4y4 / ) )4
15| 10 / |/ / / /1l 1/
/ y4 y4
y4 4
y4 y4 y4
y 4 y4
sl s L / / /
A4 /
58 4 /
441 3 4
LPM 1 2 3 4 5 10125 15 20 30 40 50 100
GPM 0.3 0.5 0.8 1.1 13 2.6 3.3 40 53 7.9 10.6 13.2 26.5
Flow (Q)

Values measured at a viscosity of 40 ¢St (187 SSU) and a temperature of 50°C (122°F).

Orifices

There are different orifices available to realize different opening / closing velocities.
The control volume of each nominal valve size can be found at the CE series.

Orifice Kits, Sorted by Thread with Different Diameters

Orifice Kit Orifice Kit, sorted by thread with different diameters, consisting of 2 pieces of each marked diameter
@mm| 0.0 0.8 0.9 1.0 1.1 1.2 1.3 15 1.8 2.0 2.2 2.5 3.0
(in.)] (0.0) (0.03) | (0.04) | (0.04) | (0.04) | (0.05) | (0.05) | (0.06) | (0.07) | (0.08) | (0.09) [ (0.10) | (0.12)
DK-M4 X X X X X X X X X - - -
DK-M5 X X X X X X X X - X - -
DK-M6 X X X X X X X X - X - - -
DK-M8 X - - X - X - X X X X X -
DK-M10x1 X - - X - X - X X X - X X
DK-1/16NPT X X X X X X X X - X - - -
DK-1/8NPT X - - X - X - X X X - X X

Orifice Kits, Thread with One Defined Diameter, 20 pieces per Box
Orifice kits of one size:

Ordering Examples:

DK-M4-06 = 20 pcs., orifice size 0.8mm (0.03 in.)

DK-M5-10 = 20 pcs., orifice size 1.0mm (0.04 in.)

DK-M8-12 = 20 pcs., orifice size 1.2mm (0.05 in.)

Orifice gauge: Order no. DK-05-30

Cat3200_02.indd, ddp, 04/19

38

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Slip-in Cartridge Valves
Series CE, C,CP

Removal CEQ016 to CE063

The extracting tools consist of tee bar, slide hammer,
support handle, and expanding collet (Figure 1).

At first the spacer ring is removed. Next, spring and
poppet are withdrawn. Finally, the expanding collet is
inserted into the sleeve and braced by means of the
tee bar. Using the slide hammer, collet and sleeve are
extracted from the cavity.

Ordering Information

Valve Size Order No.
CEO16 090460009779
CE025 090460009780
CE032 090460009781
CE040 090460009782
CEO050 090460009783
CE063 090460009784

CE016 to CE063 090460009785

Removal CE080 to CE100

The extracting tools consist of spacer ring puller
(Figure 4), puller (Figure 3), and puller thrust plate.

At first the spacer ring is removed. Next the puller is
inserted into the sleeve and aligned by the puller thrust
plate. Tightening the nut then extracts the sleeve from
the cavity.

Ordering Information

Valve Size Order No.
CE080 090460010628
CE100 090460010629

Cat3200_02.indd, ddp, 04/19

Tee bar

Slide Hammer

R

o,
S
),

Support Handle

Expanding Collet

Figure 1

P
NN
Figure 3

Figure 2 Figure 4

39

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Cartridge Manifold Blocks
Technical Information Series CB

General Description

Cartridge Manifold Blocks are bodies for 2/2-way slip-in
cartridge valves. They are used in systems with only
one cartridge valve without the need to design a spe-
cific manifold block.

The pilot ports X and Y can either be connected to A
and B or vice versa by changing the mounting position
of the cartridge cover.

The wide range of Parker slip-in cartridge valves allows

to design solutions for all hydraulic requirements. X orY X orY
L —
Hf/,ﬂ@
Features o
® Flanges SAE 61 or SAE 62 respectively CETOP square T
flange.
g, . . . O = orifice/plug
® 2 options for pilot oil supply and drain.
® 7 sizes. |:| = port
Specifications
General
Interface ISO 7368-B*-*-2-A/B
Mounting Position Unrestricted
Haximum Operating 138 Bar (2000 PSI) to 420 Bar (6090 PSI) depending on pmax of flanges
ressure
Flanaes SAE 61 (3000 PSI Series), SAE 62 (6000 PSI Series) ISO 6162,
9 CETOP Square Flange (400 Bar series)

Ordering Information

CB A 1 10 w
Cart:idge N0n|1ina| Fun(I:tion Manlifold FlaLge Deslign Witrllout
Manifold Size In—Qut for Size Series Assembly

Block 1 Cartridge

Code Description Code Size Flange
016 NG16 34 016 1" SAE 61
025 NG25 35 025 1 1/4" SAE 61
032 NG32 36 032 1 1/2" SAE 61
040 NG40 38 040 2" SAE 61
050 NG50 310 050 2 1/2" SAE 61
063 NG63 312 063 3" SAE 61
080 NG80 64 016 1" SAE 62

65 025 1 1/4" SAE 62
66 032 1 1/2" SAE 62
68 040/050 2" SAE 62
70 063 3 1/2" PN400
80 080 4" PN400

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB5Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

40 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Cartridge Manifold Blocks

Dimensions Series CB
7°’
Thread Pitch
1 Thread mm (in) 6
/n\ E M6 1.00 (.039)
IR _{ M8 125 (.049)
';‘ ~ A M10 150 (.059)
o @ M12 1.75 (.069)
M14, M16 | 2.00 (.079)
M2 M20 2.50 (.098)
I M24 3.00 (.118)
B —— H —
i NG16toNGe3 4) 2) =
@ o _6/_ ! 1
| D & G
| N\
O | @H
[ .
ik || o
ALE T R A T @)
(] > N
7 N
P - ) 3) 5) \
Dimensions are shown in millimeters only.
1) Location pin for 5
X connected tO. and. Cover turnable by 180 Ordering Code M1 M2 R S
Y connected to[Aland[1]  NG80 CB016A13410W M8x16 | M10x20 | 26.2 52.4
2) Location pin for CB016A16410W M8 x 16 M12x19 27.8 57.2
X connected to [A] and[1], 4)\?& o CB025A13510W M10x18 | M10x20 | 302 | 587
Y connected to[B] and[2] \ CBO25A16510W M10x18 | Mi4x22 | 318 | 666
3) Location pin for CB032A13610W M16x30 | Mi2x24 | 357 | 69.9
pressure functions CB032A16610W M16x30 | Mi6x32 | 365 | 79.3
4) XorY, Orlflce/Plug® /9}, CB040A13810W M16x30 | Mi12x24 | 429 77.8
(connected to [A] and [1]) CB040A16810W M16x30 | M20x40 | 445 | 96.8
5) XorY, orifice/plug @ 5) CB050A131010W M16x30 | Mi2x24 | 50.8 88.9
(connected to[B] and([2]) CBO050A16810W M16x30 | M20x40 | 445 | 968
CB063A131210W M16x30 | M16x30 | 61.9 | 106.4
CB063A17010W M16x30 | M20x33 | 1025 | 102.5
Dimensions are shown in millimeters only. CB08OA18010W M16x30 | M24x50 | 113.2 | 113.2
£% T
s@ SE | B
Ordering Code §.g A B C D E G H | K L N (0] P Q Port A and B % ﬁ: :x_’
% @ T|esl B
o 9 s | = [
Sa o |lo~| =
CBO016A13410W | 350 [105.0| 80.0 |[105.0| 38.5 | 34.0 | 38.5 | 45.0 | 13.0[13.5| 75.5 |10.0[10.0| 85.0 | 85.0 | 1“SAE61 [G1/4| M5 | 6.0
CBO016A16410W | 420 [105.0| 80.0 |105.0| 38.5 | 34.0 | 38.5 | 45.0 | 13.0|13.5| 75.5 |10.0/10.0| 85.0 | 85.0 | 1“SAE62 [G1/4| M5 | 6.0
CB025A13510W | 280 |125.0|100.0|125.0| 50.0 | 43.0 | 50.0 | 55.0 | 15.0|17.0| 94.5 |10.0|10.0[105.0|105.0| 1-1/4“ SAE 61 |G1/4| M6 | 11.0
CB025A16510W | 420 |125.0|100.0|125.0| 50.0 | 43.0 | 50.0 | 55.0 | 15.0|17.0| 94.5 |10.0|10.0[105.0|105.0| 1-1/4“ SAE 62 |G1/4| M6 | 11.0
CB032A13610W | 210 |125.0|125.0|145.0| 72.5 | 51.0 | 72.5 | 55.0 | 15.0|31.5[125.0{15.0|15.0| 95.0 |115.0| 1-1/2“ SAE 61 |G1/4| M6 | 16.0
CB032A16610W | 420 [125.0(125.0|145.0| 72.5 | 51.0 | 72.5 | 55.0 | 15.0[31.5[125.0{15.0(15.0| 95.0 |115.0| 1-1/2“ SAE 62 |G1/4| M6 | 16.0
CBO040A13810W | 210 |145.0|145.0|170.0| 85.0 | 65.0 | 85.0 | 70.0 | 20.0[35.0|150.0{15.0|15.0[115.0|140.0| 2“SAE61 |G3/8| M8 |25.0
CBO040A16810W | 420 |145.0|145.0|170.0| 85.0 | 65.0 | 85.0 | 70.0 | 20.0|35.0/150.0|15.0|15.0[115.0|140.0| 2“SAE62 |G3/8| M8 |25.0
CB050A131010W | 172 |155.0|155.0|190.0| 95.0 | 70.0 | 95.0 | 70.0 | 20.0|37.0|170.0|15.0|15.0[125.0|160.0| 2-1/2“ SAE 61 |G3/8| M8 | 32.0
CBO050A16810W | 420 |155.0/155.0/190.0| 95.0 | 70.0 | 95.0 | 70.0 | 20.0|37.0/170.0{15.0|15.0[125.0|160.0] 2“SAE62 |G3/8| M8 |32.0
CB063A131210W | 138 [192.0|192.0|240.0|120.0| 86.5 |120.0| 86.5 | 20.0 [ 45.0|220.0{15.0|15.0[165.0|210.0] 3“SAE61 |G3/8| M8 |63.0
CB063A17010W | 400 |192.0|192.0|240.0|120.0| 86.5 |120.0| 86.5 | 20.0 | 45.0|220.0|15.0|15.0|162.0|210.0| 3-1/2* PN 400 |G3/8| M8 | 63.0
CBO080A18010W | 400 |270.0|270.0|270.0|135.0|120.0/135.0{120.0| 20.0 | 35.0250.0{15.0| 15.0 |240.0|240.0| 4*PN 400 |G3/8| M8 [139.0

Cartridge Manifold Blocks are supplied with a set of plugs and orifices
Cat3200_02.indd, ddp, 04/19

41

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Pressure Relief Valves
Technical Information Series R/ RS*E

General Description

Series R pressure relief valves consist of a manual

adjusted pilot stage and a cartridge main stage. er

1 1
Series RS*E consists of a manual adjusted pilot stage '__17 | d
with a directional valve for an electrically controlled |
vent function and a cartridge main part. |B Y

The R/RS*E model codes embrace the pilot valves,
covers and cartridges that are also offered as seperate
items. See combination examples for details. RS'E R'E

Features

J— A_ = — e — —
| \L g X

® (Cavity and mounting pattern according to ISO 7368.
® 4 pressure ranges. L( l M[Ex‘
® 2 switching types (series RS*E). | ]/&_|
® 2 adjustment modes: B Y
— Hand knob
— Key lock

® Remote control via port X. RS’E (simplified symbol)

® 6 sizes, NG16 to NG63.
Note: Port X only usable for remote vent function

R*E RS*E

-

113

e,

SRR,

RARARARRA

/)
\

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB5Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

42 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Ordering Information

Pressure Relief Valves
Series R/ RS*E

[
I:I‘ I IE I I 1 ? I L | - I
Pressure Nominal Slip-in Pressure Adjustment Pilot Qil Poppet Seals Design Spool Type
Relief Valve Size Mounting Range Pilot Internal Spring Series
IS0 7368 Drain External NOTE:
Not required
Code Description when ordering.
16 NG16 —
o5 NG25 Cocfe Description
32 NG32 Omit St.andard
40 NG40 S07  With Poppet
Seals
50 NG50
63 NG63
Code Description
N Nitrile
Code Description Code Description v Fluorocarbon
07 up to 70 Bar (1015 PSI) S Hexagon Screw
10 upto 105 Bar (1522 PSI) with Lock Nut Weight:
17 upto 175 Bar (2538 PSI) L Keylock RI6E 2.2 kg (4.9 Ibs.)
21 up to 210 Bar (3000 PSI) R25E 3.5kg (7.7 (Ibs.)
25 up to 250 Bar (3625 PSI) R32E 4.9 kg (10.8 Ibs.)
35 up to 350 Bar (5075 PSI) R40E 8.0kg (17.6 Ibs.)
R50E 13.7 kg (30.2 Ibs.)
R63E 22.8 kg (50.3 Ibs.)
7
RIS I IE I I -Il ? I I I VIV I L I_I I
Pressure  Nominal ~ Slip-in  Pressure Adjustment Pilot Oil Poppet Seals  Switching  Solenoid Without Options Design Spool Type
Relief Valve ~ Size  Mounting  Range Pilot Spring Type Plug Series
with Electric IS0 7368 Internal NOTE:
Unloading Drain Not required
External when ordering.
Code Description |
16 NG16 Code Description
25 NG25 — Omit  Standard
32  NG32 C;“e zes"”p“;" S With Slow
exagon Screw ;
40 NG40 with Lgock Nut Unloading
50 NG50 L Key Lock
63 NG63 Code Description
Omit  Standard
Code Description Code Description S07  With Poppet
07  upto 70 Bar (1015 PSI) N Nitrile Seals
10 up to 105 Bar (1522 PSI) \ Fluorocarbon
17 up to 175 Bar (2538 PSI) Code Description
21 up to 210 Bar (3000 PSI) K 12v
25 up to 250 Bar (3625 PSI) J 24V
35 up to 350 Bar (5075 PSI) Code Description U 98v?
1 Solenoid not activated, G 205V 1

Cat3200_02.indd, ddp, 04/19

unpressurized circulation

9 Solenoid activated,
unpressurized circulation

at AC

" Use plug with rectifier

Weight:

RS16E
RS25E
RS32E
RS40E
RS50E
RS63E

2.7 kg (6.0 Ibs.)
5.2 kg (11.5 (Ibs.)
6.4 kg (14.1 Ibs.)
9.5 kg (20.9 Ibs.)
15.2 kg (33.5 Ibs.)
24.3 kg (53.6 Ibs.)

43

Parker Hannifin Corporation

Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US
Technical Information

Pressure Relief Valves
Series R/ RS*E

Specifications — R*E, RS*E

General
Size NG16 | NG25 | NG32 NG40 NG50 NG63
Interface Slip-in mounting according to ISO 7368
Mounting Position As desired, horizontal mounting preferred
Ambient Temperature -20°C to +80°C (-4°F to +176°F)
Hydraulic
Maximum Operating Pressure Ports A and X up to 350 Bar (5075 PSI), Ports B and Y depressurized
Pressure Range 70, 175, 250, 350 Bar (1015, 2538, 3625, 5075 PSI)
Nominal Flow 220 LPM 500 LPM 950 LPM 1400 LPM 2300 LPM 4000 LPM
(58 GPM) | (132 GPM) | (251 GPM) | (370 GPM) | (609 GPM) | (1058 GPM)
Fluid Hydraulic oil according to DIN 51524 ... 525
Viscosity Recommended 30 to 50 ¢St (mm?s)
Viscosity Permitted 20 to 380 ¢St (mm?s)
Fluid Temperature -20°C to +70°C (-4°F to +158°F)
Filtration 1ISO 4406 (1999); 18/16/13 (meet NAS 1638:7)
Specifications — RS*E
Electrical (Solenoid)
Duty Ratio 100% ED; CAUTION: coil temperature up to 180°C (356°F) possible
Maximum Switching Frequency | 16000 switchings per hour
Protection Class IP65 in accordance with EN 60529 (plugged and mounted)
Direct Current Code K J U G
Supply Voltage 12VDC 24VDC 98 VDC 205VDC
Power 31 W 31 W 31 W 31w
Current 2.5 amps 1.25 amps 0.31 amps 0.15 amps
Solenoid Connection Connector as per EN 175301-803
Wiring Minimum 3 x 1.5 mm2 recommended
Wiring Length Maximum 50m (164 ft.) recommended

Performance Curves

PSI Bar p/Q Performance " PSI, Bar Minimum Pressure
65254450 435( 30
800 | 400 —
5 —
| 363| 25
5075350
a 43501300 I o 290( 20
o
£ 3625 | 250 ——— g
0 w 218| 15
% 2900|200 o
=
o o
2175(150 145| 10
1450100 L —
73| 5 —
725| 50 |
0 0
LPMC 20 40 60 80 100 LPM 0 20 40 60 80 109
GPM 5.3 10.6 15.9 21.2 26.5 GPM 5.3 10.6 15.9 21.2 26.5
Nominal Flow Q (%) Nominal Flow (%)
" The performance curves are measured with external drain.
For internal drain the tank pressure has to be added to curve.
Cat3200_02.indd, ddp, 04/19
44 Parker Hannifin Corporation

Hydraulic Valve Division
Elyria, Ohio, USA



Pressure Relief Valves
Series R*E

Catalog MSG14-3200/US
Dimensions

Inch equivalents for millimeter dimensions are shown in (**)

NG16 - NG32 NG40 - NG63 "

L1 i L3
L1 L3 / \
CHIR® ‘ Hand Koo . @
()
OB - . J
OB
Q1 ©
Hand Knob
S R ~ ‘ 9 [
: § € S 2
E—ol — L
~
T T Adapter 1. e
T‘ X Eﬁ Y Key Lock Plate 1) ‘I@v/
. r
t Key Lock
l 00 H
(e [ © ]
- 02
I L4 26.0
(1.02)
X § = v
t
. EI e GdT——]
lt————— Od2—>
I 26.0
L2 L4 (1.02)
Size H B L1 L2 L3 L4 d1 d2 t
NG16 40.0 65.02 325 _ 114.0 125.5 32.0 25.0 56.0
(1.57) (2.56) (1.28) (4.49) (4.94) (1.26) (0.98) (2.20)
NG25 47.0 85.0 42.5 _ 102.0 114.0 45.0 34.0 71.0
(1.85) (3.35) (1.67) (4.02) (4.49) (1.77) (1.34) (2.80)
NG32 50.0 102.0 51.0 _ 95.0 106.0 60.0 45.0 85.0
(1.97) (4.02) (2.01) (3.74) (4.17) (2.36) (1.77) (3.35)
NG40 " 106.0 125.0 62.5 66.5 106.0 144.0 75.0 55.0 105.0
(4.17) (4.92) (2.46) (2.62) (4.17) (5.67) (2.95) (2.17) (4.13)
NG50 141.0 140.0 70.0 74.0 106.0 144.0 90.0 68.0 121.0
(5.55) (5.51) (2.76) (2.91) (4.17) (5.67) (3.54) (2.68) (4.76)
NG63 155.0 180.0 90.0 94.0 106.0 144.0 120.0 90.0 155.0
(6.10) (7.09) (3.54) (3.70) (4.17) (5.67) (4.72) (3.54) (6.10)
" NG40 without adapter plate 2 Width 79mm (3.11 in.)
. 5%7 O Kit
NG Bolt Kit g3 DIN912 12.9 .
Nitrile Fluorocarbon
16 BK414 (BK84) 4 x M8x40 33 Nm (24.3 Ib.-ft.) SK-R16E25 SK-R16EV25
25 BK391 (BK77) 4 x M12x50 115 Nm (84.8 Ib.-ft.) SK-R25E25 SK-R25EV25
32 BK415 (BK85) 4 x M16x55 281 Nm (207.2 Ib.-ft.) SK-R32E25 SK-R32EV25
40 BK416 (BK86) 4 x M20x70 553 Nm (407.8 Ib.-ft.) SK-R40E25 SK-R40EV25
50 BK417 (BK87) 4 x M20x75 553 Nm (407.8 Ib.-ft.) SK-R50E25 SK-R50EV25
63 BK418 (BK88) 4 x M30x100 1910 Nm (1408.6 Ib.-ft.) SK-R63E25 SK-R63EV25

Cat3200_02.indd, ddp, 04/19

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA

45




Pressure Relief Valves
Series RS*E

Catalog MSG14-3200/US
Dimensions

Inch equivalents for millimeter dimensions are shown in (**)

NG16 - NG32 NG40 - NG63 "

Hand Knob @
s} Hand Knob
7N - T
T Adapter PN
Plate 1)
X : Y Key Lock Y x
! H [ l Key Lock
t |
|| |l ] L]
[ © ]
Qd1
- 20
e L2 L4 | -L3—= —
26.0
(1.02)
t
6 26.0
(1.02)
L4 I~ 3—
Size H B L1 L2 L3 L4 L5 di d2 t
NG16 133.0 65.02 325 _ 114.0 125.5 117.0 32.0 25.0 56.0
(5.24) (2.56) (1.28) (4.49) (4.94) (4.61) (1.26) (0.98) (2.20)
NG25 137.0 85.0 425 _ 102.0 114.0 117.0 45.0 34.0 71.0
(5.39) (3.35) (1.67) (4.02) (4.49) (4.61) (1.77) (1.34) (2.80)
NG32 143.0 102.0 51.0 _ 95.0 106.0 117.0 60.0 45.0 85.0
(5.63) (4.02) (2.01) (3.74) (4.17) (4.61) (2.36) (1.77) (3.35)
NGA40 196.0 125.0 62.5 66.5 106.0 144.0 117.0 75.0 55.0 105.0
(7.72) (4.92) (2.46) (2.62) (4.17) (5.67) (4.61) (2.95) (2.17) (4.13)
NG50 231.0 140.0 70.0 74.0 106.0 144.0 117.0 90.0 68.0 121.0
(9.09) (5.51) (2.76) (2.91) (4.17) (5.67) (4.61) (3.54) (2.68) (4.76)
NG63 246.0 180.0 90.0 94.0 106.0 144.0 117.0 120.0 90.0 155.0
(9.69) (7.09) (3.54) (3.70) (4.17) (5.67) (4.61) (4.72) (3.54) (6.10)
" NG40 without adapter plate 2 Width 79mm (3.11 in.)
. éﬁ O Kit
NG Bolt Kit = perz12s o
Nitrile Fluorocarbon
16 BK414 (BK84) 4 x M8x40 33 Nm (24.3 Ib.-ft.) SK-RS16E25 SK-RS16EV25
25 BK391 (BK77) 4 x M12x50 115 Nm (84.8 Ib.-ft.) SK-RS25E25 SK-RS25EV25
32 BK415 (BK85) 4 x M16x55 281 Nm (207.2 Ib.-ft.) SK-RS32E25 SK-RS32EV25
40 BK416 (BK86) 4 x M20x70 553 Nm (407.8 Ib.-ft.) SK-RS40E25 SK-Rs40EV25
50 BK417 (BK87) 4 x M20x75 553 Nm (407.8 Ib.-ft.) SK-RS50E25 SK-RS50EV25
63 BK418 (BK88) 4 x M30x100 1910 Nm (1408.6 Ib.-ft.) SK-RS63E25 SK-RS63EV25

Cat3200_02.indd, ddp, 04/19

46

Parker Hannifin Corporation

Hydraulic

Valve Division

Elyria, Ohio, USA




Catalog MSG14-3200/US Proportional Pressure Relief Valves
Technical Information Series RE*E*W

General Description

Series RE*E*W proportional pressure relief valves A
consist of a proportional pilot stage and a slip-in car- [
tridge main stage. A mechanical maximum pressure {

a screw-in cartridge is used; for sizes NG40, NG50

stage is optionally available. For sizes NG25 and NG32 } . = r
and NG63 an additional sandwich unit is used. |

The RE*W model code embraces the pilot valves,
covers and cartridges that are also offered as separate

items. See combination examples for details.

In combination with the digital power amplifier
PCDOO0A-400 the valve parameters can be saved,
changed and duplicated.

Features
Pilot operated with proportional solenoid.
Continuous adjustment by proportional solenoid.

Optional mechanical maximum pressure stage.

Cavity and mounting pattern according to ISO 7368.
4 pressure ranges.
6 sizes, NG16 to NG63.

{ A m

Plate only
25.0

at NG 50
(0.98) and NG 63

|

A

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB5Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

47 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Proportional Pressure Relief Valves
Series RE*E*W

Specifications

General

Size NG16 | NG25 | NG32 NG40 NG50 NG63
Interface Slip-in mounting according to ISO 7368

Mounting Position

As desired, horizontal mounting preferred

Ambient Temperature

-20 to +80°C (-4 to +176°F)

Hydraulic

Maximum Operating Pressure

Ports A and X: 350 Bar (5075 PSI), Ports B and Y: depressurized

Pressure Range

105, 175, 250, 350 Bar (1523, 2538, 3625, 5075 PSI)

Nominal Flow

220LPM | 500 LPM 950 LPM | 1400LPM | 2300LPM | 4000 LPM
(58 GPM) | (132 GPM) | (251 GPM) | (370 GPM) | (609 GPM) |(1058 GPM)

Fluid

Hydraulic oil according to DIN 51524 ... 525

Viscosity Recommended

30 to 50 ¢St (mm?/s)

Viscosity Permitted

20 to 380 ¢St (mm?/s)

Fluid Temperature

-20 to +70°C (-4 to +158°F)

Filtration ISO 4406 (1999); 18/16/13 (meet NAS 1638:7)
Electrical (Proportional Solenoid)
Duty Ratio 100% ED

Protection Class

IP65 in accordance with EN 60529 (plugged and mounted)

Nominal Voltage

12 VDC (maximum current 2.3 amps), 16 VDC (maximum current 1.3 amps)

Coil Resistance

4 Ohm at 20°C (68°F)

Solenoid Connection

Connector as per EN 175301-803

Power Amplifier Recommended | PCDO0A-400
Ordering Information
[
RE E w 1 S 1 w
I I I I I I I I I I [ [ I_I_I I
Proportional Nominal  Slip-in  Pressure Offboard  Pilot Oil  Poppet Seals  Normally  Solenoid Without Options Design  Spool Type
Pressure Size Mounting  Range Electronics Pilot Spring Open Plug Series
Relief Valve ISO 7368 Internal NOTE:
Drain Not required
External when ordering.
Code Description —
16 NG10 Cod.e Description
o5 NG25 Code Description Omit Standargl
30 NG32 N Nitrile M Mec!’\amcal
* \Y Fluorocarbon Maximum
40 NG40 Adjustment
50" NG50
63’ NGes3 Code Description

with poppet seal.

Omit  Standard
S07  With Poppet

Code Description
10 up to 105 Bar (1523 PSI)

Seals

Code Description

(

17 up to 175 Bar (2538 PSI) K 12V, 2.3A

25 up to 250 Bar (3625 PSI) X 16V, 1.3A

35 up to 350 Bar (5075 PSI)
Weight:
RE16E*W 2.7 kg (6.0 Ibs.)
RE25E*W 5.2 kg (11.5 (Ibs.)
RE32E*W 6.4 kg (14.1 Ibs.)
RE40E*W 9.5 kg (20.9 Ibs.)
RE50E*W  15.2 kg (33.5 Ibs.)
RE63E*W  24.3 kg (53.6 Ibs.)

Cat3200_02.indd, ddp, 04/19
48 Parker Hannifin Corporation

Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Proportional Pressure Relief Valves
Performance Curves Series RE*E*W

The performance curves are measured with external drain. For internal drain the tank pressure has to be added to curve.

Signal / Pressure p/Q Performance
PSI , Bar

100 50751350 —

/ 4350|300

ES
s 3625|250
5 |0 — o
7] L~ £ 2900]200
© 7] m—
§ |40 / 8 2175(150 —
= | :
8 1450(100 —
20
725 50
0 0
0 20 40 60 80 100 LPM 0 25 50 75 100
GPM 6.6 13.2 19.8 26.5
Pressure p (%) Nominal Flow Q (%)

ps! Bar Minimum Pressure

218t 15

174 12 //
131 9 /
87| 6 /

44 3/

Pressure p

0
LPM 50 100 150
GPM 13.2 26.5 39.7

Nominal Flow Q (%)

Cat3200_02.indd, ddp, 04/19

49 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Proportional Pressure Relief Valves
Series RE*E*W

Catalog MSG14-3200/US
Dimensions

NG40 - NG63

CHES

[ F__ .' a 1
)lk......_...f (1.81) K_r |

NG16 - NG32

15.0 113.0 15.0 113.0
§(0.59) (4.45) f (0.59) = (4.45)

2l =

e Sl

B H [

| .

VL s
AN

o
| X ;; Y Optional | \ |
Mechanical Optlonal_
I Pressure Mechanical
t Adjustment Pr(_assure
(OQ) B [ Adjustment

) NG40 without Adapter Plate

©d

Cat3200_02.indd, ddp, 04/19

—Parker ;

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Proportional Pressure Relief Valves
Dimensions Series RE*E*W

Inch equivalents for millimeter dimensions are shown in (**)

Size H B d1 d2 t
NGH6 135.0 79.0" 32.0 25.0 56.0
(5.31) (3.11) (1.26) (0.98) (2.20)

NG25 140.0 85.0 45.0 34.0 72.0
(5.51) (33.5) (1.77) (1.34) (2.83)

NG32 145.0 102.0 60.0 45.0 85.0
(5.71) (4.02) (2.36) (1.77) (3.35)

NG40 137.0 (5.39) @ 125.0 75.0 55.0 105.0
179.0 (7.05) 2 (4.92) (2.95) (2.17) (4.13)

NG5O 172.0 (6.77) 2 140.0 90.0 68.0 122.0
214.0 (8.43) 2 (5.51) (3.54) (2.68) (4.80)

NG63 187.0 (7.36) 2 180.0 120.0 90.0 155.0
229.0 (9.02) 2 (7.09) 4.72) (3.54) (6.10)

" Width 65mm (2.56 in.)
2 With mechanical maximum adjustment

NG it- @ 22% ﬁ O Kit

Bolt Kit Nitrile Fluorcarbon
16 BK414 (BK84) 33 Nm (24.3 Ib.-ft.) SK-RE16E SK-RE16EV
25 BK391 (BK77) 115 Nm (84.8 Ib.-ft.) SK-RE25E SK-RE25EV
32 BK415 (BK85) 281 Nm (207.2 Ib.-ft.) SK-RE32E SK-RE32EV
40 BK416 (BK86) 553 Nm (407.8 Ib.-ft.) SK-RE40E SK-RE40EV
50 BK417 (BK87) 553 Nm (407.8 Ib.-ft.) SK-RE50E SK-RE50EV
63 BK418 (BK88) 1910 Nm (1408.6 Ib.-ft.) SK-RE63E SK-REG3EV

Cat3200_02.indd, ddp, 04/19

51 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Proportional Pressure Relief Valves
Technical Information Series RE*E*T (Onboard Electronics)

General Description

Series RE*E*T proportional pressure relief valves
consist of a proportional pilot stage with onboard
electronics and a slip-in cartridge main stage. A
mechanical maximum pressure stage is optionally
available. For sizes NG25 and NG32 a screw-in
cartridge is used; for sizes NG40, NG50 and NG63
an additional sandwich unit is used.

—
-
VIV

The valve comes factory set with linearized
characteristics.

Features
The RE*T model COde embraces the pl|0t VaIVeS, ® Pilot Operated with proportiona| So|enoid_
covers and cartridges that are also offered as ® Onboard electroni
separate items. The pilot valve with onboard nooard electronics.
electronics (REO6M*T) is not shown in the combin- ® Optional mechanical maximum pressure stage.
ation examples ® Factory setting.
® Ramp time adjustment.
® |inearized characteristics.
® 4 pressure ranges.
® Cavity and mounting pattern according to ISO 7368.
® 6 sizes, NG16 to NG63.

Parametrizing
Connection

Main
Connection

* @
250 Plate only ﬂ

with NG 50 e =1
(0-98) and NG 63 N W

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB5Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

52 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Proportional Pressure Relief Valves
Series RE*E*T (Onboard Electronics)

Specifications
General
Size NG16 | NG25 | NG32 NG40 NG50 NG63
Interface Slip-in mounting according to ISO 7368
Mounting Position As desired, horizontal mounting preferred
Ambient Temperature -20 to +80°C (-4 to +176°F)
Hydraulic
Maximum Operating Pressure Ports A and X: 350 Bar (5075 PSI), ports B and Y: depressurized
Pressure Range 105, 175, 250, 350 Bar (1523, 2538, 3625, 5075 PSI)
Nominal Flow 220 LPM 500 LPM 950 LPM 1400 LPM 2300 LPM 4000 LPM
(58 GPM) | (132 GPM) | (251 GPM) | (370 GPM) (609 GPM) |(1058 GPM)

Fluid

Hydraulic oil according to DIN 51524 ... 525

Viscosity Recommended

30 to 50 ¢St (mm?/s)

Viscosity Permitted

20 to 380 cSt (mm?/s)

Fluid Temperature

-20 to +70°C (-4 to +158°F)

Filtration ISO 4406 (1999); 18/16/13 (meet NAS 1638:7)

Electrical (Proportional Solenoid)

Duty Ratio 100% ED

Protection Class IP65 in accordance with EN 60529 (plugged and mounted)
Supply Voltage 14.5VDC to 30 VDC

Ripple in Supply Voltage

5% maximum

Current Consumption

2.8 amps maximum

Input Range Voltage Input | 0 to +10V maximum / 10k Ohm
Current Input | 4 to +20mA / 500 Ohm
Adjustment Range of Ramp Time | 0 to 5s

Installation Cross-section

1 mm2 minimum, shielded

Cable Length

50 m (164 ft.) maximum

Electrical Connection

No. 5004072; 6 pole + PE / Connector as per EN 175201-804 / cable - 8 to 10 mm

Ordering Information

[
I:‘IE I IE I T 1 ? I .I| I ? I L I_I I
Proportional Nominal  Slip-in Pressure  Offboard  Pilot Qil Poppet  Seals Normally Command Electrical Options Design  Spool Type
Pressure Size Mounting  Range Electronics  Pilot ~ Spring Open Signal  Attachments Series
Relief Valve IS0 7368 Internal NOTE:
w/Electric Drain Not required
Un|Oad|ng External when Ordering.
Code  Description Code Description Code Description
16 NG16 N Nitrile Omit  Standard
25 NG25 \Y Fluorocarbon M Mechanical
32 NG32 Maximum
40 NG40 Code Description Adjustment
50 NG50 F Voltage input —
63 NG63 0 to +10V with Code Description
ref. output +10V Omit  Standard
Code Description R Current input S07 " With Poppet
10 upto 105 Bar (1523 PSI) 4 to 20mA Seals
17 up to 175 Bar (2538 PSI) " Not for NG16
25 up to 250 Bar (3625 PSI)
35 up to 350 Bar (5075 PSI) Weight:
RE16E*T 2.7 kg (6.0 Ibs.) RE40E*T  9.5kg (20.9 Ibs.)
RE25E*T 5.2 kg (11.5 (Ibs.) RES0E*T  15.2 kg (33.5 Ibs.)
RE32E*T 6.4 kg (14.1 Ibs.) REG3E*T 24.3 kg (53.6 Ibs.)
Cat3200_02.indd, ddp, 04/19
53 Parker Hannifin Corporation

Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Performance Curves

Proportional Pressure Relief Valves
Series RE*E*T (Onboard Electronics)

The performance curves are measured with external drain. For internal drain the tank pressure has to be added to curve.

Signal / Pressure

p/Q Performance

N PSI“Bar
100 652571450
5800|400 —
80
2 / 5075|350
g P o 4350(300
o |60 o
7] 5 3625|250
2 @
2900(200 — —
g |4 d E
£ / 2175[150
[=]
P pd 1450 100===
725 50
0 0
Bar, 20 40 60 80 100, LPM 25 50 75 100,
PSI 290 580 870 1160 1450 GPM 6.6 13.2 19.8 26.5
Pressure p Nominal Flow Q (%)
PSI Bar Minimum Pressure
232116
203| 14
174 | 12 //
Q 145| 10
()
5 /
@ 116| 8 A
[7]
g /
a 116| 6
58| 4 /,/
29| 2
0
LPM 25 50 75 100 125 _
GPM 6.6 13.2 19.8 26.5 33.1

Cat3200_02.indd, ddp, 04/19

Nominal Flow Q (%)

54

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Proportional Pressure Relief Valves
Block Diagram — Wiring Series RE*E*T (Onboard Electronics)

Code F
6 + PE acc. EN 175201-804

|
(Command J (B) S S
uC

0...10V

Potentiometer |
supply
+10V @

I_'___"_'_'_'_'_!
|
|
|
|
|
|

Code R
6 + PE acc. EN 175201-804

r— " -

.

R: 4...20mA

|

| |
(Gommand J (E) S B D|
|

Cat3200_02.indd, ddp, 04/19

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Proportional Pressure Relief Valves

Technical Information Series RE*E*T (Onboard Electronics)
ProPxD Interface Program Features

The ProPxD software permits comfortable parameter ® Simple editing of all parameters.

setting for the electronic modules Series PCD, PWD, ® Depiction and documentation of parameter sets.
PZD, PID and PWDXX. ® Storage and loading of optimized parameter adjustments.
Via the clearly arranged entry mask the parameters can ® Executable with all Windows® operating systems from
be displayed and modified. Storage of complete param- Windows® 95 upwards.

eter sets is possible as well as printout or record as a ® Communication between PC and electronic via serial
text file for further documentation. Stored parameter sets interface RS-232C and null modem cable.

may be loaded anytime and transmitted to the electronic ® Simple to use PC user software, free of charge:
module in the same manner as the basic parameters www.parker.com/euro_hcd

which are available for all usable valve series. Inside the — see “Software Downloads”

electronics a nonvolatile memory stores the data with
the option for recalling or modification.

=T
Bie Oplos Help Spedols LP
expert off Parm, I
PC seftings Mndule settings
I 3] :
nC=T_r 55 U_|ramp up [ms] A
56 0 |ramp duem [ros] &
P3 100.0 |Max [%] A-channel
Valve P5 0.0 | Dither-Amplitude [%]
P& 0_| Dither-Frequency [Hz]
P7 | 0.0 |min[w) A-channel
Demo ;
Rereve all
Input
Fiang Sand all
™ clz=U -
e omx= Send parameter
= Default

The parametrizing cable may be ordered under item no. 40982923.

Cat3200_02.indd, ddp, 04/19

56 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Proportional Pressure Relief Valves
Dimensions Series RE*E*T (Onboard Electronics)

NG16 - NG32 NG40 - NG63

—] 46.0
i = (1.81)
@ ¥ OB

113.0
(4.45)

T E i E
] H R
l?'—.l Adapter [ %

! plate‘)\ =
L X Y Optional N Optional
% Mechanical Mechanical
X : Prgssure Pressure
(O|Q) Adjustment [ © ] Adjustment
B
| |
A —
<ot X ) Y

0.0

- Od2—

1) NG40 without Adapter Plate

©d

Cat3200_02.indd, ddp, 04/19

57 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US

Dimensions

Proportional Pressure Relief Valves
Series RE*E*T (Onboard Electronics)

Inch equivalents for millimeter dimensions are shown in (**)

Size H B d1 d2 t
NG16 177.0 79.0" 32.0 25.0 56.0
(6.97) (3.11) (1.26) (0.98) (2.20)
NG25 122.0 85.0 45.0 34.0 72.0
(4.80) (33.5) (1.77) (1.34) (2.83)
NG32 127.0 102.0 60.0 45.0 85.0
(5.00) (4.02) (2.36) (1.77) (3.35)
NG40 137.0 (5.39) ? 125.0 75.0 55.0 105.0
179.0 (7.05) ? (4.92) (2.95) (2.17) (4.13)
NG50 172.0 (6.77) ? 140.0 90.0 68.0 122.0
214.0 (8.43) 2 (5.51) (3.54) (2.68) (4.80)
NG63 187.0 (7.36) ? 180.0 120.0 90.0 155.0
229.0 (9.02) 2 (7.09) (4.72) (3.54) (6.10)
" Width 65mm (2.56 in.)
2 With mechanical maximum adjustment
ﬁ O Kit
NG Bolt Kit - @@%
Nitrile Fluorocarbon
16 BK414 (BK84) 33 Nm (24.3 Ib.-ft.) SK-RE16E SK-RE16EV
25 BK391 (BK77) 115 Nm (84.8 Ib.-ft.) SK-RE25E SK-RE25EV
32 BK415 (B K85) 281 Nm (207.2 Ib.-ft. SK-RE32E SK-RE32EV
40 BK416 (BK86) 553 Nm (407.8 Ib.-ft.) SK-RE40E SK-RE40EV
50 BK417 (BK87) 553 Nm (407.8 Ib.-ft.) SK-RE50E SK-RE50EV
63 BK418 (BK88) 1910 Nm (1408.6 Ib.-ft.) SK-RE63E SK-REG3EV
Cat3200_02.indd, ddp, 04/19
58 Parker Hannifin Corporation

Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Pressure Unloading Valves
Series UR*E / US*E

General Description

Series UR*E unloading valves consist of a mechanical
pilot stage and a slip-in cartridge main stage. These
valves are used to unload a circuit at low pressure. The
mechanically adjustable pressure signal to unload the
main stage has to be applied to port X. The pressure
differential between opening and closing is 15%.

In addition, Series US*E is vented by electrical opera-
tion. The UR*E/US*E model codes embrace the pilot

valves, covers and cartridges that are also offered as US25E UR'E
separate items. See combination examples for details.
Al ———
Features | : \‘
® Pilot operated unloading valve. = : N_,JT S
® (Cavity and mounting pattern according to ISO 7368. L_ |r|_
® 4 pressure ranges. X | l_
® 2 adjustment modes: | 1
— Hand knob B
— Key lock
US*E
® 6 sizes, NG16 to NG63.
Note: Port X only usable for remote vent function.
UR*E US*E
Hand Knob Hand Knob
25.0 A — R 25.0 RN
[(0.98) % [(0.98)
Plate only 0 Key Lock Plate only Key Lock
for NG50 e for NG50 rF= i
and NG63 L and NG63 L
T T T
o L
S v
. JLATTS N G - R | P B G -
L= Oy =1 L= of =]
,// \\ v iy \\\\ ke
I/ \\\\ I// \\\\
X Y X Y

— || ®

A

A

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information

go to www.PB65Warnings.ca.gov.
Cat3200_02.indd, ddp, 04/19

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Ordering Information

Pressure Unloading Valves
Series UR*E / US*E

UR*E
7
UIR I F I I T ? I - | -
Unloading Nominal Slip-in Pressure Adjustment Pilot Qil Poppet Seals Design
Valve Size Mounting Range Pilot Internal Spring Series
IS0 7368 Drain External NOTE:
Not required
Code Description when ordering.
16 NG16
25 NG25 —
32 NG32 Code Description
40 NG40 N Nitrile
50 NG50 \Y Fluorocarbon
63 NG63
Weight:
Code Description Code Description UR16E 2.2 kg (4.9 Ibs.)
07 up to 70 Bar (1015 PSI) L Key Lock UR25E 3.5kg (7.7 (Ibs.)
17 up to 175 Bar (2538 PSI) S Hand Knob UR32E 4.9kg (10.8 Ibs.)
25 up to 250 Bar (3625 PSI) (Standard) Blgggg ?-307ki (1(;-062[b|z-))
. .2 lbs.
35 up to 350 Bar (5075 PSI) URG3E 228 kg (50.3 Ibs)
US*E
us E 1] [s w L
Unloellding NonLinal SIi[I)-in Preslsure Adjusltment Pilolt 0il Por;pet Selals Switéhing Solelnoid Witrllout Optilons Des{ign
Valve with  Size Mounting  Range Pilot Spring Type Plug Series
Electric IS0 7368 Internal NOTE:
Unloading Drain Not required
External when ordering.
Code Description
16 NG16 Code Description
o5 NG25 Omit  Standard
32 NG32 S With Slow
40 NG40 Unloading
50 NG50
63 NG63 Code Description
K 12V
Code Description J 24V
07 up to 70 Bar (1015 PSI) U 98V "M
17 up to 175 Bar (2538 PSI) G  205V"
25 up to 250 Bar (3625 PSI) " To be used in
35 up to 350 Bar (5075 PSI) combination with
rectifier plugs at
120VAC / 230VAC
Code Description power supply.
L Key Lock
S Hand Knob Code Description
(Standard) 1 Solenoid not activated,
unpressurized circulation
Weight: 9 Solenoid activated,
US16E 2.7 kg (6.0 Ibs.) unpressurized circulation
US25E 5.2 kg (11.5 (Ibs.)
US32E 6.4 kg (14.1 Ibs. L
US40E 9.5 kg Ezo.g Ibs.; Code  Description
US50E  15.2 kg (33.5 Ibs.) N Nitile
USB3E  24.3kg (53.6 Ibs.) V. Fluorocarbon

Cat3200_02.indd, ddp, 04/19

60

Parker Hannifin Corporation
Hydraulic Valve Division

Elyria, Ohio,

USA



Catalog MSG14-3200/US
Technical Information

Pressure Unloading Valves
Series UR*E / US*E

Specifications — UR*E / US*E

General
Size NG16 | NG25 | NG32 | NG40 | NG50 | NG63
Interface Slip-in mounting according to ISO 7368
Mounting Position As desired, horizontal mounting preferred
Ambient Temperature -20°C to +80°C (-4°F to +176°F)
Hydraulic
Maximum Operating Pressure Ports A and X: up to 350 Bar (5075 PSI), Ports B and Y: depressurized
Pressure Range 70, 175, 250, 350 Bar (1015, 2538, 3625, 5075 PSI)
Pressure Differential 15%
Nominal Flow 220 LPM 500 LPM 950 LPM 1400 LPM 2300 LPM 4000 LPM
(58 GPM) | (132 GPM) | (251 GPM) | (370 GPM) | (609 GPM) | (1058 GPM)
Fluid Hydraulic oil according to DIN 51524 ... 525
Viscosity Recommended 30 to 50 ¢St (mm?/s)
Viscosity Permitted 20 to 380 cSt (mm?/s)
Fluid Temperature -20°C to +70°C (-4°F to +158°F)
Filtration 1ISO 4406 (1999); 18/16/13 (meet NAS 1638:7)
Specifications — US*E
Electrical (Solenoid)
Duty Ratio 100% ED; CAUTION: coil temperature up to 180°C (356°F) possible
Maximum Switching Frequency | 16000 switchings per hour
Protection Class IP65 in accordance with EN 60529 (plugged and mounted)
Direct Current Code K J U G
Supply Voltage 12V 24V 98V 205V
Power 31W 31W 31W 31W
Current 2.5A 1.25A 0.31A 0.15A
Solenoid Connection Connector as per EN 175301-803
Wiring 3 x 1.5 mm2 minimum, recommended
Wiring Length 50m (164 ft.) maximum, recommended
Performance Curves
PSI Bar p/Q Performance " PSI, Bar Minimum Pressure
65254450 435] 30
5800400 —
I 363| 25
5075|350
o 4350(300 — o 290| 20
£ 3625|250 = <
@ @ 218| 15
§ 2900 | 200 o
& 2175|150 & sl 10
1450|100 —
73| 5
725| 50 L
0
(I)_PMG 20 40 60 80 100 LPM 20 40 60 80 100
GPM 5.3 10.6 15.9 212 25.6 GPM 5.3 10.6 15.9 21.2 26.5

Nominal Flow Q (%)

Nominal Flow (%)

") The performance curves are measured with external drain.
For internal drain, the tank pressure has to be added to curve.

Cat3200_02.indd, ddp, 04/19

—Parker )

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Pressure Unloading Valves
Series UR*E

Catalog MSG14-3200/US
Dimensions

Inch equivalents for millimeter dimensions are shown in (**)

L1 f L3
L1 L3
m]}
@__@ Hand Knob
o "]
Hand Knob
@ @ NS /)
b ] ~ N ~
H : < Adapter —t - —©)
i ? ;l — Plate 2) —
N
X Y Key Lock Key Lock
P X ==
H
t
\ 00 | © I
g
" % e o=
L4 (1.02) @
t
|« gdt— o
Jd2—»
1 26.0
L2 L4 (1.02)
Size H B L1 L2 L3 L4 di d2 t
NG16 40.0 65.0" 36.5 32.5 114.0 125.5 32.0 25.0 56.0
(1.57) (2.56) (1.44) (1.28) (4.49) (4.94) (1.26) (0.98) (2.20)
NG25 47.0 85.0 46.5 42.5 102.0 114.0 45.0 34.0 71.0
(1.85) (33.5) (1.83) (1.67) (4.02) (4.49) (1.77) (1.34) (2.80)
NG32 50.0 102.0 55.0 51.0 95.0 106.0 60.0 45.0 85.0
(1.97) (4.02) (2.17) (2.01) (3.74) (4.17) (2.36) (1.77) (3.35)
NG40 ? 106.0 125.0 66.5 62.5 106.0 144.0 75.0 55.0 105.0
(4.17) (4.92) (2.62) (2.46) (4.17) (5.67) (2.95) (2.17) (4.13)
NG50 141.0 140.0 74.0 70.0 106.0 144.0 90.0 68.0 121.0
(5.55) (5.51) (2.91) (2.76) (4.17) (5.67) (3.54) (2.68) (4.76)
NG63 155.0 180.0 94.0 90.0 106.0 144.0 120.0 90.0 155.0
(6.10) (7.09) (3.70) (3.54) (4.17) (5.67) (4.72) (3.54) (6.10)
" Width 79mm (3.11in.) 2 NG40 without adapter plate
ﬁ O Kit
NG Bolt Kit- g
bl % Nitrile Fluorocarbon
16 BK414 (BK84) 33 Nm (24.3 Ib.-ft.) SK-R16E25 SK-R16EV25
25 BK391 (BK77) 115 Nm (84.8 Ib.-ft.) SK-R25E25 SK-R25EV25
32 BK415 (BK85) 281 Nm (207.2 lb.-ft.) SK-R32E25 SK-R32EV25
40 BK416 (BK86) 553 Nm (407.8 lb.-ft.) SK-R40E25 SK-R40EV25
50 BK417 (BK87) 553 Nm (407.8 Ib.-ft.) SK-R50E25 SK-R50EV25
63 BK418 (BK88) 1910 Nm (1408.6 Ib.-ft.) SK-R63E25 SK-R63EV25

Cat3200_02.indd, ddp, 04/19

62

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Pressure Unloading Valves
Dimensions Series US*E

Inch equivalents for millimeter dimensions are shown in (**)

©d

Hand Knob =] Hand Knob
~ Adapter [’ 9 ~
€ Plate 2 7
- 7 !
H
i e
[ (X Y Key Lock Key Lock
t ‘ \
0|0 | ]
gt
[=Qd2 —
-2 ! L4 — L3 —
26.0
(1.02) t
26.0
(1.02)
L4 - L3 —
Size H B L1 L2 L3 L4 di d2 t
NG16 40.0 65.0" 36.5 32.5 114.0 125.5 32.0 25.0 56.0
(1.57) (2.56) (1.44) (1.28) (4.49) (4.94) (1.26) (0.98) (2.20)
NG25 47.0 85.0 46.5 42.5 102.0 114.0 45.0 34.0 71.0
(1.85) (33.5) (1.83) (1.67) (4.02) (4.49) (1.77) (1.34) (2.80)
NG32 50.0 102.0 55.0 51.0 95.0 106.0 60.0 45.0 85.0
(1.97) (4.02) (2.17) (2.01) (3.74) (4.17) (2.36) (1.77) (3.35)
NG40 2 106.0 125.0 66.5 62.5 106.0 144.0 75.0 55.0 105.0
(4.17) (4.92) (2.62) (2.46) (4.17) (5.67) (2.95) (2.17) (4.13)
NG50 141.0 140.0 74.0 70.0 106.0 144.0 90.0 68.0 121.0
(5.55) (5.51) (2.91) (2.76) (4.17) (5.67) (3.54) (2.68) (4.76)
NG63 155.0 180.0 94.0 90.0 106.0 144.0 120.0 90.0 155.0
(6.10) (7.09) (3.70) (3.54) (4.17) (5.67) (4.72) (3.54) (6.10)
" Width 79mm (3.11 in.) 2 NG40 without adapter plate
M O Kit
NG Bolt Kit - §iT—
% Nitrile Fluorocarbon
16 BK414 (BK84) 33 Nm (24.3 Ib.-ft.) SK-RS16E25 SK-RS16EV25
25 BK391 (BK77) 115 Nm (84.8 Ib.-ft.) SK-RS25E25 SK-RS25EV25
32 BK415 (BK85) 281 Nm (207.2 Ib.-ft.) SK-RS32E25 SK-RS32EV25
40 BK416 (BK86) 553 Nm (407.8 Ib.-ft.) SK-RS40E25 SK-RS40EV25
50 BK417 (BK87) 553 Nm (407.8 Ib.-ft.) SK-RS50E25 SK-RS50EV25
63 BK418 (BK88) 1910 Nm (1408.6 Ib.-ft.) SK-RS63E25 SK-RS63EV25

Cat3200_02.indd, ddp, 04/19

63 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Pressure Unloading Valves
Technical Information Combination Examples

Pressure Relief Valve with Screw-in Cartridge within Control Cover

| = |
: i . :
| et
. I L .
| ¢ =
e o ® |
L. M o
X = Y
T
[ e AL = e
q M@ s I G hts
L] l’ i
A
|B 1Y
NG16 - NG32
Type
Description NG16 NG25 NG32
Cover incl. Pressure Valve " CO1BFXXXXXXXXXX CO25FXXXXXXXXXX COB2FXXXXXXXXXX
Cover Orifice © M5x@1.0 M5x@1.1 M6x@1.2
Cover Orifice @ M4x@0.8 M5x@0.9 M6x31.0
Cover Orifice ® M5x99 M6XxD99
Cartridge 2 CP016C07S00X | CP025C07S00X CP032C07S00X
Poppet Orifice ©) 1/16NPT x 00 (plug)
Spring 1.6 Bar (23.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414, 4x M8x40 | BK391, 4x M12x50 | BK415, 4x M16x55
Shown orifice @ and springs are recommendations. " Complete type see Ordering Information C*F
xx@00 = plug 2 Complete type see Ordering Information CP*
xx@99 = open

Cat3200_02.indd, ddp, 04/19

64 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Pressure Unloading Valves
Combination Examples

Pressure Relief Valve with Separate Pilot

r—t = -1
[ I e I
I P, | |T|
= —I—"'—'—'j'—r—
- RN
Nk o e R -~ | - [ = X
| = I I Pl I : .
N |
(. I | ~N | L 17 |
PLA T PeA BT
| | | | | .
B Y
| R | !
S el r—+ 1| 4 r+ |
1® 1O @ @ ® 1@ Dl @I
L S SN SRR A e DR
XLzl 1 _ | lze Iy] X z2| | | _1z1 |y
= .
I I
[} [}
qd @ s q @ s
A A
NG16 - NG40 NG50 - NG63
Flow A—»=B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63
Pressure Valve " RO6Mxxx4x
Adapter Plate 2 without PADA1007/A-B/B-A
Cover d CO016CA* C025CA* C032CA* CO040CA* CO50CA* CO63CA*
Cover Orifice @ M5x@1.1 M5x@21.3 M5x@D1.4 M5x@21.5 M6xQ21.6 M6x21.7
Cover Orifice @ M5x@00 M6x@J00
Cover Orifice ® M5x@99 M6x@99 M8x@99
Cover Orifice @ M5x@1.3 M6xJ1.5 M6x31.7 M6xJ1.8 M8xQ@2.0 M8xQ2.2
Cartridge ¥ CP0O16CO7* CP025C07* CP032C07* CP040C07* CP050CO07* CP063CO07*
Poppet Orifice @ 1/16NPT x @0.9 | 1/16NPT x @1.1 | 1/16NPT x @1.2 | 1/16NPT x @1.3 | 1/16NPT x @1.4 | 1/16NPT x @1.5
Spring 1.6 Bar (23.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414, 4x M8x40 [BK391, 4x M12x50| BK415, 4x M16x55 | BK416, 4x M20x70 [BK417, 4x M20x75|BK418, 4x M30x100
Bolt Kit Pilot BK443, 4x M5x45

Shown orifice @ and springs are recommendations.

xx@00 = plug
xx@99 = open

" Complete type see Pilot Valves

2 Includes O-rings and mounting bolts

3 Complete type see Ordering Information C*C
4 Complete type see Ordering Information CP*

Cat3200_02.indd, ddp, 04/19

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA

65




Catalog MSG14-3200/US

Technical Information

Pressure Unloading Valves
Combination Examples

Pressure Relief Valve with Electrical Vent Function, Normally Open

and Screw-in Cartridge within Control Cover

| |
L I
W ]
H | ( T S | H
| _ — — —
Bl E e
Pl Al B Tl
L

I
S N e ——
I
b & Fo T Tk
LT . 1] a
$ |B |
I
qd @ s
A
NG16 - NG32
Flow A—B
Type
Description NG16 NG25 NG32
4/2 DC Valve " D1VW104K*
Cover incl. Pressure Valve 2 CO1BGXXXXXXXXXX C025GXXXXXXXXXX CO32GXXXXXXXXXX
Cover Orifice @ M5x@1.0 M5x@i1.1 M5x@1.2
Cover Orifice @ M5x99 M6xQ299
Cover Orifice @ M4x@00 M5x@00 M6x@200
Cover Orifice @ M5x@1.2 M5x@1.3 M6xD1.4
Cartridge CP016CO07* CP025C07* CP032C07*
Poppet Orifice @ 1/16NPT x ©0.8 1/16NPT x @1.0
Spring 1.6 Bar (23.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414, 4x M8x40 | BK391, 4x M12x50 BK415, 4x M16x55
Bolt Kit 4/2 DC Valve BK375, 4x M5x30

Shown orifice @ and springs are recommendations.

xx@00 = plug
xx@99 = open

Cat3200_02.indd, ddp, 04/19

" Complete type see Catalog HY14-2500/US, Series D1VW.
2 Complete type see Ordering Information C*G
3 Complete type see Ordering Information CP*

66

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Pressure Unloading Valves
Combination Examples

Pressure Relief Valve with Electrical Vent Function, Normally Open
and Pilot in Sandwich Design

Eheneill
| _Ilt ymuf
I I
Al | J,_B__,
- E[::l_ll—_—k—_—_q
T =] |
L | Ll ]
[ = —+
L] AN R e | i
AL B T
Y R Y
EI'___IL____\_F_ L oPLA B _|T|
L | | | A
| | § [ | N | :——-\J,,——Z—Z -l\;\E.----x
[ — L—— I X I ' 17 EE
Il |—> ol I N I .
A R | | v
PL AL __ B M PLA __ __B_IT B Y
[ [ [ [
[ [ I T I I [
o Gl et G
© 0 @@ |® @ O
oo no e o)
x| z1 L§ | lze Iyl (XL z2] | § | 1z1 Iy
qd @8 q 1@ s
A A
NG16 - NG40 NG50 - NG63
Flow A—=B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63
4/2 DC Valve " D1VW104K*
Pressure Valve 2 V-ZUDB1ATxZ07x
Adapter Plate ® .
NG6 — NG10 without PADA1007/A-B/B-A
Cover 4 CO016CA* C025CA* C032CA* C040CA* CO50CA* CO063CA*
Cover Orifice @ M5x@1.1 M5x@1.3 M5x@1.4 M5x@1.5 M6xJ1.6 M6x31.7
Cover Orifice ® M5x@00 M6x@00
Cover Orifice ®| M5x99 M6x@99 M8x@99
Cover Orifice @ M5x@21.3 M6xD1.5 M6x21.8 M8x@2.0 M8x@2.2
Cartridge ® CP016C07* CP025C07* CP032C07* CP040CO07* CP050C07* CP063C07*
Poppet Orifice @ 1/16NPT x ©0.9 | 1/16NPT x @1.1 | 1/16NPT x @1.2 | 1/16NPT x @1.3 | 1/16NPT x @1.4 | 1/16NPT x 1.5
Spring 1.6 Bar (23.2 PSlI), Type S (order no. see spare parts)
Bolt Kit Cover BK414, 4x M8x40| BK391, 4x M12x50 [ BK415, 4x M16x55 | BK416, 4x M20x70 | BK417, 4x M20x75 | BK418, 4x M30x100
Bolt Kit Pilot TK1482
Shown orifice @ and springs are recommendations. " Complete type see Catalog HY14-2500/US, Series D1VW.
xx@00 = plug 2 Complete types see Pilot Valves
xx@99 = open 3 Includes O-rings and mounting bolts

4 Complete type see Ordering Information C*C
9 Complete type see Ordering Information CP*

Cat3200_02.indd, ddp, 04/19

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA

67




Catalog MSG14-3200/US

Technical Information

Pressure Unloading Valves
Combination Examples

Pressure Relief Valve with Electrical Vent Function, Normally Closed
and Screw-in Cartridge within Control Cover

|
W !
| LD o |
| _ — — —
. L_h_ 7~ f'_ -1
_PL_A __B T
T T T
é) |
1 — | 1 ‘|,
I === ------- X
D ——4— - A
é) ¢ ! é) N l_ |
ll ll \
LT . 1] | {-
5 B 1
i
I
qd 1@ s
A
Ng16 - NG32
Flow A—=B
Type
Description NG16 NG25 NG32
4/2 DC Valve " D1VW105K*
Cover incl. Pressure Valve C01BGXXXXXXXXXXXX CO25GXXXXXXXXXXXX C032GXXXXXXXXXXXX
Cover Orifice ©) M5x@1.0 M5x@1.1 M6xa1.4
Cover Orifice ® M5x@99 M6x@99
Cover Orifice @ M4x@00 M5x@00 M6x200
Cover Orifice @ M5x@1.2 M5x@1.3 M6xD1.4
Cartridge CP016CO07* CP025C07* CP032C07*
Poppet Orifice @ 1/16NPT x ©0.8 1/16NPT x @1.0
Spring 1.6 Bar (23.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414, 4x M8x40 | BK391, 4x M12x50 | BK415, 4x M16x55
Bolt Kit 4/2 DC Valve BK375, 4x M5x30

Shown orifice @ and springs are recommendations.

Xx@00 = plug
xx@99 = open

Cat3200_02.indd, ddp, 04/19

" Complete type see Catalog HY14-2500/US, Series D1VW.
2 Complete type see Ordering Information C*G
3 Complete type see Ordering Information CP*

68

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Pressure Unloading Valves
Combination Examples

Pressure Relief Valve with Electrical Vent Function, Normally Closed
and Pilot in Sandwich Design

| A 7
I MIATLTT T |
| Tl
L] |
S
Ppi—= l——¢—11
e p—— _{_'—'L'_'_I" |
I I I
WAL = : |
I iR ins] I +_ 7 |5 _+
[ _ | ! _ _l | I'/ Le| r
| Ay b B L1 =
Prmz ——eTm o PLA BT
-1
B S R I G
: ([ [ : N7 : r“\J/“E'T' ------- X
. Y ! I
| +_.'/ Ly >t | AN f ' [%]II:
=T I N N
L LA BT e W
I I [ [
I | ! | | | |
I
)|( )|( )|( )|(
J_z1| |22J_ X 22| |z1
% %
d @ s q 1@ 8
A I A
NG16 - NG40 NG50 - NG63
Flow A—»B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63
4/2 DC Valve " D1VW105K*
Pressure Valve 2 V-ZUDB1ATxZ07x
Adapter Plate ® without PADA1007/A-B/B-A
Cover 4 CO016CA* C025CA* C032CA* C040CA* CO50CA* CO063CA*
Cover Orifice @ M5x@1.1 M5xJ1.3 M5x@1.4 M5x@1.5 M6xD1.6 M6x@1.7
Cover Orifice ® M5x@00 M6X@00
Cover Orifice ® M5x299 M6x299 M8x299
Cover Orifice @ M5x@21.3 M6éx21.5 Méx21.7 M6x21.8 M8x@2.0 M8x@2.2
Cartridge CP016C07* CP025C07* CP032C07* CP040CO07* CP050CO07* CP063C07*
Poppet Orifice @ 1/16NPT x ©0.9 | 1/16NPT x @1.1 | 1/16NPT x @1.2 | 1/16NPT x 1.3 | 1/16NPT x @1.4 | 1/16NPT x @1.5
Spring 1.6 Bar (23.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414, 4x M8x40 | BK391, 4x M12x50 | BK415, 4x M16x55 | BK416, 4x M20x70 | BK417, 4x M20x75 | BK418, 4x M30x100
Bolt Kit Pilot TK1482

Shown orifice @ and springs are recommendations.

xx@00 = plug
xx@99 = open

Cat3200_02.indd, ddp, 04/19

N

N

o &2 e n o=

Complete type see Catalog HY 14-2500/US, Series D1VW.
Complete types see Pilot Valves

Includes O-rings and mounting bolts
Complete type see Ordering Information C*C
Complete type see Ordering Information CP*

69

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US

Technical Information

Pressure Unloading Valves
Combination Examples

Proportional Pressure Relief Valve

—— — = I
I
| =33 I
——— P AT
I ||
N s
I ANy I
] | NS
| I |_> | _ 70N ~ |
| [ I | r N |
P Al T ]
| o o e R
| Lo | : !
IR AR R R = S
® |@I @1 @I I® | DI @i
)| )| w1 ne e ) | B Y
Xl z1 | | Iz _ly] [XI_z2| | 171 1Y
= 2
d @ s qd 1@ s
- \K
NG16 - NG40 NG50 - NG63
Flow A—= B
Type
Description NG16 NG25 NG32 NG40 NG50 | NG63
Pressure Valve " REOBMxW2V1KW
Adapter Plate 2 without PADA1007/A-B/B-A
Cover ¥ CO016CA* C025CA* C032CA* C040CA* CO50CA* | CO063CA*
Cover Orifice @ M5x@1.1 M5x@21.3 M5x@D1.4 M6xQ21.5
Cover Orifice @ M5x@00 M6x@J00
Cover Orifice ® M5x@99 M6x@99 M8x@99
Cover Orifice @ M5x@1.2 M6xJ1.4 M6xJ1.5 M8xJ1.6
Cartridge ¥ CP016CO07* CP025C07* CP032C07* CP040S07* CP050S07* | CP063S07*
Poppet Orifice @ | 116NPT x @0.9 | 1/16NPT x @1.1 | 1/16NPT x @1.2 | 1/16NPT x @1.3 1/16NPT x @1.4
Spring 0.5 Bar (7.3 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414, 4x M8x40| BK391, 4x M12x50 | BK415, 4x M16x55 | BK416, 4x M20x70 | BK417, 4x M20x75 |BK418, 4x M30x100
Bolt Kit Pilot BK375, 4x M5x30
Shown orifice @ and springs are recommendations. " Complete type see Catalog HY14-2550/US, Series REO6M*W.
xx@00 = plug 2 Includes O-rings and mounting bolts
xx@99 = open 3 Complete type see Ordering Information C*C
)

Cat3200_02.indd, ddp, 04/19

IS

Complete type see Ordering Information CP*

70

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Pressure Unloading Valves
Combination Examples

Catalog MSG14-3200/US
Technical Information

Proportional Pressure Relief Valve
with Mechanical Maximum Pressure Protection
(Screw-in Cartridge within Control Cover)

T B B XiiY
*
q @ps
A
Flow A—=B
Type
Description NG16 NG25 NG32

Prop. DC Valve " REO6MxW2V1xW
Cover incl. Pressure Valve ? CO1BGXXXXXXXXXXXX CO25GXXXXXXXXXXXX CO32GXXXXXXXXXXXX
Cover Orifice ©) M5x@1.0 M5x@1.1 M6x21.4
Cover Orifice ® M5x@99 M6Xx299
Cover Orifice @ M4x@00 M5x@00 M6xQ200
Cover Orifice ®@ M5x@1.2 M5x@1.3 M6x@1.7
Cartridge CP016CO7* CP025C07* CP032C07*
Poppet Orifice @ 1/16NPT x 0.8 1/16NPT x ©0.9 1/16NPT x @1.2
Spring 1.6 Bar (23.2), Type S (order no. see spare parts)
Bolt Kit Cover BK414, 4x M8x40 | BK391, 4x M12x50 | BK415, 4x M16x55
Bolt Kit 4/2 DC Valve BK375, 4x M5x30

Shown orifice @ and springs are recommendations.

xx@00 = plug
Xx@99 = open

Cat3200_02.indd, ddp, 04/19

" Complete type see Catalog HY14-2550/US, Series REO6M*W.

2 Complete type see Ordering Information C*G
3 Complete type see Ordering Information CP*

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Pressure Unloading Valves
Combination Examples

Proportional Pressure Relief Valve
with Mechanical Maximum Pressure Protection in Sandwich Design

[

I
I
| AN s EMX‘
I

R ,7_+| | ST | |

| | L | | | 7N B %

e N

(. I Il N
PLAL LT ]

I [ [ [

| R |1
A r—4 | I 4= r—+ |

I® @I 1@ @) I® @I 1D @

[ T (G |G T e e e )|
X zi| | | _1z2 IY| (X za | SI Z1_1Y|

I I
I
N )I(@ H B q ):(@ H B
A A
NG16 - NG40 NG50 - NG63
Flow A—=B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63

Pressure Valve " REO6MxW2V1KW
Max. Pressure Valve 2 V-ZUDB1PTxZ07x
Adapter Plate .
NG6 — NG10 without PADA1007/A-B/B-A
Cover 4 CO016CA* C025CA* C032CA* CO40CA* CO50CA* C063CA*
Cover Orifice @ M5x@1.1 M5x@1.3 M5x@1.4 M6x21.6
Cover Orifice @ M5x@00 M6xa00
Cover Orifice @ M5x99 M6x@299 M8x@299
Cover Orifice @ M5x@1.2 M6xQD1.4 M6x@21.5 M8xQD1.6
Cartridge CP016CO07* CP025C07* CP032C07* CP040S07* CP050S07* | CP063S07*
Poppet Orifice @ | 1/16NPT x@0.9 | 1/16NPT x @1.1 | 1/16NPT x @1.2 | 1/16NPT x @1.3 1/16NPT x @1.4
Spring 0.5 Bar (7.3 PSI), Type N (order no. see spare parts)
Bolt Kit Cover BK414, 4x M8x40 [ BK391, 4x M12x50 |BK415, 4x M16x55| BK416, 4x M20x70 | BK417, 4x M20x75 |BK418, 4x M30x100
Bolt Kit Pilot TK1482

Shown orifice @ and springs are recommendations.

xx@00 = plug
xx@99 = open

Cat3200_02.indd, ddp, 04/19

@

) Complete type see Catalog HY 14-2550/US, Series REO6M*W.
2 Complete types see Pilot Valves
) Includes O-rings and mounting bolts

4 Complete type see Ordering Information C*C
9 Complete type see Ordering Information CP*

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA

72




Catalog MSG14-3200/US Pressure Unloading Valves

Technical Information Combination Examples
Unloading Valve
| 1
1
A g N
I | I
I
o =
——-—-—-— |PLA_ B ___T]
jmm-—---- I ! ! i
!T I (el IO S
I Pl vl i R
1 1 PN 1 -
= S P
I I ] I

:_—!
|
|
|
~
_!_'U
;
|
|
.!_'U__________
!
|
_!_w
______|__1
L

o o
! AR e e g e s
ol < 0 @@ |0 O
| It = | OIS | G H O R (O H G H O R
X o} vl X1z 'L§L 122 1y [ z2 L§L Z1 1Yl
T : :
' @ LB ):(G) | B ):(G) | B
A A A
NG16 - NG32 NG40 NG50 - NG63
Flow A—B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63
Unloading Valve " - - - UROBMxxx4x
Adapter Plate 2 without PADA1007/A-B/B-A
Cover ® On Request On Request On Request CO040CA* CO50CA* CO0B3CA*
Cover Orifice @ M5x@1.4 M5x@21.5 M5x@21.6 M5x@21.7 M6xQ21.8 M6xQ21.9
Cover Orifice ® M5x@00 M6x300
Cover Orifice ® M5x@99 M6x@99 M8x@99
Cover Orifice @ M5x@1.5 M6xD1.6 M6xJ1.7 M6x21.8 M8xJ1.9 M8x@2.0
Cartridge ¥ CP016CO07* CP025C07* CP032C07* CP040S07* CP050CO07* CP063S07*
Poppet Orifice @ 1/16NPT x @0.9 | 1/16NPT x @1.0 | 1/16NPT x @1.1 | 1/16NPT x @1.2 | 1/16NPT x @1.3 [1/16NPT x @1.4
Spring 1.6 Bar (23.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414 (BK84) | BK391 (BK77) | BK415 (BK85) | BK416 (BK86) | BK417 (BK87) | BK418 (BKSS)
Bolt Kit Pilot BK387

Shown orifice @ and springs are recommendations.
Xxx@00 = plug
xx@99 = open

Complete types see Pilot Valves

Includes O-rings and mounting bolts
Complete type see Ordering Information C*C
Complete type see Ordering Information CP*

& e n o=

EN

Cat3200_02.indd, ddp, 04/19

73 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US

Technical Information

Pressure Unloading Valves
Combination Examples

Unloading Valve with Electrical Vent Function, Normally Open

i

Complete type see Ordering Information C*C

___'___1'____'_:'_?_
1 \ I
|
T -\
Do o
Ay .B
——— ————d———
[eealelepeltvunlebvny IR L SR U
T \ lyeene 1
I L I
SRES gt
L0 !
ALY =
S | S A U i [
I S _"'—\_ T T S 'T
! 171 1 I I — I ! A___g————
K el T S fant
,_ J—_— ~ //
o T : TT b X N ! ) —l_ ! V\[EE
I, 1o 1 : % RSN I I i
b s N ' ’ i | e TV
P A Bl |T| ! Lo I VAl
—- - —— RLA I S E XY
AN I I I I I
T = L | | L
! + _ | | | | | i
I ! R R I ST
I I 1 I |
| | | |@ I 1 1 |®| |®| @l
i = S VRt s R g
X cl I R P R L 7y
= = =
: I
B
L@ LE )I(® | B )'(@ | B
A A A
NG16 - NG32 NG40 NG50 - NG63
Flow A—B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63
4/2 DC Valve " D1VWO076K*
Pressure Valve 2 US06Mxxx4x
Adapter Plate ® without PADA1007/A-B/B-A
Cover 4 On Request On Request On Request CO040CA* CO50CA* CO063CA*
Cover Orifice @ M5x@1.4 M5x@1.5 M5xJ1.6 M5x@21.7 M6xJ1.8 M6x21.9
Cover Orifice ® M5x@00 M6X@00
Cover Orifice ®| Msx099 M6Xx299 M8x@99
Cover Orifice @ M5x@1.5 M6xD1.6 Méx21.7 M6xD1.8 M8x@1.9 M8x@2.2
Cartridge © CP016C07* CP025C07* CP032C07* CP040S07* CP050S07* CP063S07*
Poppet Orifice @ 1/16NPT x @0.9 | 1/16NPT x 1.0 | 1/16NPT x @1.1 [ 1/16NPT x @1.2 | 1/16NPT x @1.3 | 1/16NPT x &1.4
Spring 1.6 Bar (23.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414 (BK84) BK391 (BK77) BK415 (BK85) BK416 (BK86) BK417 (BK87) BK418 (BK88)
Bolt Kit Pilot BK401
Shown orifice @ and springs are recommendations. " Complete type see Catalog HY14-2500/US, Series D1VW.
Xx@00 = plug 2 Complete types see Pilot Valves
xx@99 = open 3 Includes O-rings and mounting bolts
)
)

Cat3200_02.indd, ddp, 04/19

a

Complete type see Ordering Information CP*

74

Parker Hannifin Corporation

Hydraulic Valve D
Elyria, Ohio, USA

ivision




Catalog MSG14-3200/US
Technical Information

Pressure Unloading Valves
Combination Examples

Unloading Valve with Electrical Vent Function, Normally Closed

IS

Complete type see Ordering Information C*C

T_'___1 - ____'_:'__;_
! 1 \ I
|
I
! Wt N\
I
I I_ i | : : I_ - JI I
..__A_I‘r' :____JJ_B__..
T_'_T'____'_T_'_? Py T IS TTAT
I 1 I
e N =R ar=ot
I
| : /W T E: | : +— - - I_. _L_\ -
[ 1 1 1 7 1
. I —— =
ALl L e L =0
——— —— - 1
bl E';—'—f—'—'—}"—'ul IPLAL LT
I H q \ I ] I ] !
I T \‘J_ | AR A ! I ! I I ! A
| | I ! | I ~ - I L,— - ----
| 1 |_’ L \ N e \
! '\/\’T T :'i REERE rantE Y i r | VE:IIIE
L ! ) 1 | 1 1 1 //’ \\\ 1 i
[ — Sl = s N T
= I I I ] I I I
- B P oA b 2
I I I I
=S N N o o
Lt——- 11
| _ 1 1 1 1 | 1 1 | ! |
! M IR Ao SR R e B B
: @! % : |@ |®| |®| @ |© |®| |®| @I
i W | )OS G H O G G { G Y
x| % | Ixiozip | = Laz2 Y Xy zer 0y 171 Y
!
@B OJE:R OB
A A A
NG16 - NG32 NG40 NG50 - NG63
Flow A— B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63
4/2 DC Valve " D1VWO078K*
Pressure Valve 2 US06Mxxx4x
Adapter Plate ® without PADA1007/A-B/B-A
Cover ¥ On Request On Request* On Request* CO40CA* CO50CA* CO063CA*
Cover Orifice @ M5x@D1.4 M5x@1.5 M5x31.6 M5x@1.7 M6xJ1.8 M6x21.9
Cover Orifice ® M5x@00 M6X@00
Cover Orifice ®| Msx099 M6Xx299 M8x@99
Cover Orifice @ M5x@1.5 M6xD1.6 Méx21.7 M6xD1.8 M8x@1.9 M8x@2.2
Cartridge CP016CO07* CP025C07* CP032C07* CP040S07* CP050S08* CP063S07*
Poppet Orifice @ 1/16NPT x ©0.9 | 1/16NPT x @1.0 | 1/16NPT x @1.1 | 1/16NPT x @1.2 [ 1/16NPT x ©1.3 | 1/16NPT x @1.4
Spring 1.6 Bar (23.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414 (BK84) | BK391 (BK77) | BK415(BK85) | BK416 (BK86) | BK417 (BK87) | BK418 (BK8S)
Bolt Kit Pilot BK401
Shown orifice @ and springs are recommendations. " Complete type see Catalog HY14-2500/US, Series D1VW.
xx@00 = plug 2 Complete types see Pilot Valves
Xx@99 = open 3 Includes O-rings and mounting bolts
)
)

Cat3200_02.indd, ddp, 04/19

o

Complete type see Ordering Information CP*

75

Parker Hannifin Corporation
Hydraulic Valve Division

Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Pressure Unloading Valves
Combination Examples

Pressure Sequence Valve

T T A
N
o |
r =
————— LA s 1
| I | ! I
| I 1
AN [l N
S e “ve |
I 1 I AN I
= N O .
I I I I I I
B{——A—l—————u—— P A B 4T I———\Jﬁ—:{-r-———x
1 I I I I I I I | I
| I I I I I I I | I
I N R S W
PR ST RSN P S N N | |
®o e e O B Y
T O T )RS H G SR 1
XUzt 1 1 iz2 v X z2, | = L1zt Y]
i . ! .
I I
1 1 !
! )!((D B i N )!(@ pii
I | I
LD LD
A A
NG16 - NG40 NG50 - NG63
Flow A— B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63
Press. Sequence Valve " S06Mxxx4x
Adapter Plate 2 without PADA1007/A-B/B-A
Cover? CO16CA* C025CA* CO032CA* C040CA* CO050CA* CO063CA*
Cover Orifice @ M5x@21.1 M5x@1.3 M5x@1.4 M5x@1.5 M6xD1.6 Méx@21.7
Cover Orifice @ M5x@00 M6xQ200
Cover Orifice @ M5x@0.9 M6x@1.1 M6xd1.2 M6xD1.3 M8xD1.4 M8xJ1.5
Cover Orifice @ M5xJ1.3 M6xQ1.5 M6éx31.7 M6xQD1.8 M8x@2.0 M8xd2.2
Cartridge ¥ CEO016CO01* CE025C01* CE032CO01* CE040CO01* CE050C01* CE063C01*
Poppet Orifice @ 1/16NPT x @00
Spring 1.6 Bar (23.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414 (BK84) | BK391 (BK77) | BK415(BK85) | BKa416 (BK86) | BK417 (BKS7) | BK418 (BKS)
Bolt Kit Pilot BK401
Shown orifice @ and springs are recommendations. " Complete types see Pilot Valves
xx@00 = plug 2 Includes O-rings and mounting bolts
xx@99 = open 9 Complete type see Ordering Information C*C
)

4 Complete type see Ordering Information CE*

Cat3200_02.indd, ddp, 04/19

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA

76




Catalog MSG14-3200/US
Technical Information

Pressure Unloading Valves
Combination Examples

3-Way Compensator
(in Combination with Proportional Throttle Valve)

ey
: § 1
I : oo _: I
1 1 Ir’ L,
— [ I W
[m————————— 1 1
I I
sy b A5
I __ _l I l\ /J I
‘: i ‘ N
1 [ 1 AN 1
+ L o I P ~o I
___________ . e |P| A| B T L____ 1 ¢ N |
| R R =X . 1 - — - -
1 ¢X 1 ’V\l : | | | 1 L ’V\, : _!_ _f_ _!_ _!_
Al l 1w A SE AR A < O B S [ R IR
T W '®):( ):(®' @):(' Wy @@ O @
L ! |_<:)_ b | :Z ! ! ):( : ):( ):( ! ):(
> FATI 1 2 Y 22, . 1171 Y]
@ =S " X = LT =
1 T T
_— 1 1
L] q @hs q @ s
® ®
NG16 - NG40 L NG50 - NG63 LU
FlowA—B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63
Preload Valve " DSBA100xP07x
Adapter Plate 2 without PADA1007/A-B/B-A
Cover ? CO16CA* C025CA* CO32CA* CO040CA* CO50CA* CO63CA*
Cover Orifice @ M5x@1.1 M5x@1.3 M5x@1.4 M5x@1.5 M6xD1.6 M6x21.7
Cover Orifice @ M5x@00 M6xQ200
Cover Orifice ® M5x@99 M6x299 M8x299
Cover Orifice @ M5xJ1.3 M6xJ1.5 M6xJ1.7 M6xJ1.8 M8xJ2.0 M8xQ2.2
Cartridge ¥ CEO16CO1* CE025C01* CEO032C01* CEO40CO01* CEO050CO01* CE063CO01*
Poppet Orifice @ 1/16NPT x @0.9 | 1/16NPT x @1.1 | 1/16NPT x @1.2 | 1/16NPT x @1.3 | 1/16NPT x @1.4 | 1/16NPT x @1.5
Spring 1.6 Bar (3.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414 (BK84) | BK391 (BK77) | BK415(BK8S5) | BK416 (BK86) | BK417 (BK87) | BK418 (BKSS)
Bolt Kit Pilot BK401

Shown orifice @ and springs are recommendations.

xx@00 = plug
Xx@99 = open

Cat3200_02.indd, ddp, 04/19

& e o=

IS

Complete type see Pilot Valves

Includes O-rings and mounting bolts
Complete type see Ordering Information C*C
Complete type see Ordering Information CE*

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA

77




Catalog MSG14-3200/US
Technical Information

Pressure Unloading Valves
Combination Examples

3-Way Compensator
with Mechanical Maximum Pressure Protection
(in Combination with Proportion Throttle Valve)

=
T
- - - "] I | - 1
§ E::_A_:____=:_T___]I.I
I~ T \p H |
LT =
IR N
| ! 1 e
P A —'———'—T],-_'_!'I R =R I
I N/ \ PI A| BI IT
I i SR
_— & AN e |
ERECI Lo
-—-- | | 1 1 1 e So 1
—— { I I I —_—— ] s N I
OX l P A BT l [ R .
v Pwi Il IHARIREEE
- [ | - -3 - Wl - [ — —— |
7L W 5 ae L' o @ ae e e @ a
| ! ! I TGS T O B ! S O O A
. ' b izl L iz ly b Lbzl b il
Z 2 22y ) 1 141 Y]
@ N T XS I v
| QP
W@ LB MOY !
L T T
A A
O 1!
NG16 - NG40 NG50 - NG63
Flow A— B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63
Pressure Valve ROB6Mxxx4x
Preload Valve " DSBA100xZ07x
Adapter Plate 2 without PADA1007/A-B/B-A
Cover ¥ CO016CA* C025CA* C032CA* CO040CA* CO50CA* CO063CA*
Cover Orifice @ M5x@1.1 M5x@1.3 M5x31.4 M5x@1.5 M6xJ1.6 M6xD1.7
Cover Orifice ® M5x@00 M6Xx200
Cover Orifice ® M5x@99 M6x299 M8x299
Cover Orifice @ M5x@21.3 MéxD1.5 Méx@21.7 M6xD1.8 M8x@2.0 M8x@2.2
Cartridge ¥ CEO16CO01* CE025C01* CEO032C01* CEO040CO01* CEO050CO01* CEO063CO01*
Poppet Orifice @ 1/16NPT x @0.9 | 1/16NPT x 1.1 | 1/16NPT x @1.2 [ 1/16NPT x @1.3 | 1/16NPT x @1.4 | 1/16NPT x @1.5
Spring 1.6 Bar (23.2 PSlI), Type S (order no. see spare parts)
Bolt Kit Cover BK414 (BK84) BK391 (BK77) BK415 (BK85) BK416 (BK86) BK417 (BK87) BK418 (BK88)
Bolt Kit Pilot BK401
Shown orifice @ and springs are recommendations. " Complete type see Pilot Valve Examples
xx@00 = plug 2 Includes O-rings and mounting bolts
Xx@99 = open 3 Complete type see Ordering Information C*C
)

Cat3200_02.indd, ddp, 04/19

£

Complete type see Ordering Information CE*

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US
Technical Information

Pressure Unloading Valves
Combination Examples

3-Way Compensator
with Proportional Pessure Relief Valve for Pressure Control

I \=====7 F==a
—— R
PAy T T
T
! = ) L ! : ! §:| 1
| I ot e
R ! I [
P AL T T =
RS vl ! | 1 1 1
| T §: Lo P At_ —.By T
[ [l [ 1 N o 1
e NP
I [ I I | RN |
13 ! Rkl | T
X -—-- -—-- ‘ N
: v AL._ BT N N T
N U o S sl
- | _ 1 —1 r= 1 1 =1 r= 1
oLy W%ﬁ:‘? = Lololol lee! 08 Lol @ @
" 1 | neoorononm o 1 n [ (G TG I
= ! Doz 1 ize VoLAza 1L zy
| < 4 1 < 1 L v
@ Vs 4] R S
T T
Lo . |
L1 qd "@Ohes q ®Hs
A A
1l O
NG16 - NG40 NG50 - NG63 I_I
Flow A — B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63
Prop. Pressure Valve REO6MxW2V1KW*
Preload Valve 2 DSBA100xZ07x
Adapter Plate ® without PADA1007/A-B/B-A
Cover 4 CO16CA* C025CA* CO32CA* CO40CA* CO50CA* CO63CA*
Cover Orifice @ M5x@1.1 M5x@1.3 M5x@1.4 M5x@1.5 M6xD1.6 M6x21.7
Cover Orifice @ M5x@00 M6xQJ00
Cover Orifice ® M5x@99 M6x@99 M8x@99
Cover Orifice @ M5xJ1.3 M6x21.5 M6éxJ1.7 M6xQD1.8 M8x@2.0 M8xQ2.2
Cartridge CEO16CO01* CE025C01* CE032C01* CE040CO01* CEO050C01* CE063CO01*
Poppet Orifice @ 1/16NPT x ©@0.9 | 1/16NPT x @1.1 | 1/16NPT x @1.2 | 1/16NPT x @1.3 | 1/16NPT x @1.4 | 1/16NPT x @1.5
Spring 1.6 Bar (23.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414 (BK84) BK391 (BK77) BK415 (BK85) BK416 (BK86) BK417 (BK87) BK418 BK88)
Bolt Kit Pilot BK401

Shown orifice @ and springs are recommendations.

xx@00 = plug
xx@99 = open

Cat3200_02.indd, ddp, 04/19

o &2 e N o=

)

Complete type see Catalog HY14-2550/US, Series REO6M*W.
Complete type see Pilot Valves

Includes O-rings and mounting bolts
Complete type see Ordering Information C*C
Complete type see Ordering Information CE*

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA

79




Catalog MSG14-3200/US Pressure Unloading Valves
Technical Information Combination Examples

3-Way Compensator with Mechanical Maximum Pressure Protection
and Electrical Vent Function, Normally Open

(in Combination with Proportional Throttle Valve) s
I I
i T\ T T\
L __
e T=y T E=IT=o o I AL ! B |
! \1 II] ! itk P
I
WA T 1 ! =
S N S A
poAu 'L___‘_»I_B__T R IS
e L e
L= Pl A 1o
Bt st
- F - — = I 1 I
: 1 ,’/ |—> T 1 I : : §:: : I
ool I ob-= oo
» N IRFACE
AL A LT Lo
TG T TTES M | 1 1 1
L= B AL B T]
1 oo 1 N o
i e vt T LS
== | 1 [ 1 1 1 RN |
T X! | | = N | I
L — ) A o B Tl — 1
iy l W o1 = Wi T
7k | s ool el eal UL el @
Y I Ly @ @ @ @ LI @ @ 1D @
ILII\ 1 | nooooneooneor 1 nooroneoneor e
AL, bolyzi 1 uze vl boldzal 1o 1ozt
£ < L L
O = R = S N R
Y : '
q @ps N )i(@ B
A fA
NG 16 - NG40 I_I NG50 - NG63 I_I
Flow A —B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63
4/2 DC Valve " D1VWO076K*
Press. Valve 2 ZUDB1ATxZ07x
Preload Valve ? DSBA100xZ07x
Adapter Plate ¥ without PADA1007/A-B/B-A
Cover 4 CO16CA* C025CA* CO032CA* CO40CA* CO50CA* CO063CA*
Cover Orifice @ M5x@1.1 M5x@1.3 M5x@1.4 M5x@1.5 M6xD1.6 M6éxa1.7
Cover Orifice @ M5x@00 M6x@00
Cover Orifice @ M5x99 M6xQ299 M8xQ299
Cover Orifice @ M5x@1.3 M6xJ1.5 M6x31.7 M6xJ1.8 M8x@2.0 M8x@2.2
Cartridge CEO016CO01* CE025C01* CEO032C01* CEO040C01* CEO050C01* CEO063CO01*
Poppet Orifice @ 1/16NPT x @0.9 | 1/16NPT x @1.1 | 1/16NPT x @1.2 | 1/16NPT x @1.3 | 1/16NPT x @1.4 | 1/16NPT x @1.5
Spring 1.6 Bar (23.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414 (BK84) | BK391 (BK77) | BK415 (BK8S5) | BK416 (BK86) | BK417 (BK87) | BK418 (BKSS)
Bolt Kit Pilot BK424

Complete type see Catalog HY14-2500/US, Series D1VW.
Complete type see Pilot Valves

Includes O-rings and mounting bolt

Complete type see Ordering Information C*C

Complete type see Ordering Information CE*

Shown orifice @ and springs are recommendations.
Xx@00 = plug
xx@99 = open

o &2 8 N o=

@

Cat3200_02.indd, ddp, 04/19

80 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US
Technical Information

Pressure Unloading Valves
Combination Examples

3-Way Compensator
with Proportional Pressure Relief Function

and Mechanical Maximum Pressure Protection
(in Combination with Proportional Throttle Valve)
:_"i";"'l_, T
———— e —— N == U
N BA
I -
m === - — = " 1 1
| [ | 1l __ LL__
S A 0 [H
B!___]______T_L_ : : [ : :
I I
: i § : i i_-_A—i—_-_::..—L'—:I
S A " Y o
ol b T
M AL
oA | L=
TN TS N | 1 1 1
| =i Al ]
1 1 1 | R B |
T [ TN
- —— - I [ I I I P I
I S RS [
L Fwl e T
- s . -1 r— -1 r=
IiE)T( T T 'IjE T ' ! | |T@ \jE [ e PR I
[ ! LI ® I 1) L & 1@ ]
L ! ):( LR | ! M e e
’ 21 Z2 Y| Z1 .Y
™ "rj = T N R
R ! '
n® | 8 N )i(@ B
A A
O U il
NG16 - NG40 NG50 - NG63
Flow A— B
Type
Description NG16 NG25 NG32 NG40 NG50 NG63
Prop. Pressure Valve " REO6MxW2V1KW*
Press. Valve 2 ZUDB1ATxZ07x
Preload Valve ? DSBA100xZ07x
Adapter Plate ¥ without PADA1007/A-B/B-A
Cover 4 CO16CA* C025CA* CO032CA* CO40CA* CO50CA* CO063CA*
Cover Orifice @ M5x@1.1 M5x@1.3 M5x@1.4 M5x@1.5 M6xD1.6 M6éxa1.7
Cover Orifice @ M5x@00 M6x@00
Cover Orifice @ M5x99 M6xQ299 M8xQ299
Cover Orifice @ M5x@1.3 M6xJ1.5 M6x31.7 M6xJ1.8 M8x@2.0 M8x@2.2
Cartridge CEO16CO01* CE025C01* CEO032C01* CEO040C01* CEO050C01* CEO063CO01*
Poppet Orifice @ 1/16NPT x @0.9 | 1/16NPT x @1.1 | 1/16NPT x @1.2 | 1/16NPT x @1.3 | 1/16NPT x @1.4 | 1/16NPT x @1.5
Spring 1.6 Bar (23.2 PSI), Type S (order no. see spare parts)
Bolt Kit Cover BK414 (BK84) | BK391 (BK77) | BK415 (BK85) | BKa416 (BKe6) | BK417 (BK87) | Bka18 (BKes)
Bolt Kit Pilot BK424

Shown orifice @ and springs are recommendations.

xx@00 = plug
xx@99 = open

Cat3200_02.indd, ddp, 04/19

o &2 e n o=

a

Complete type see Catalog HY14-2550/US, Series REO6M*W
Complete type see Pilot Valves

Includes O-rings and mounting bolts
Complete type see Ordering Information C*C
Complete type see Ordering Information CE*

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA

81




Catalog MSG14-3200/US Manual Throttle Valves

Technical Information Series TEH
General Description .
Series TEH accumulator discharge valves are prefer- |_ >~ _—| ' _|a
ably used in hydraulic systems where high volume flow il = MWL T4
rates are discharged from accumulators over a short | — | ! e, q:/-i
operating period (in the range of milliseconds). ' ‘IJ [ |

X1 - Ty L ===
Typical applications are injection molding and die cast- W B I[ZI:FW
ing machines as well as hydraulic presses. <+ -
The amplifier piston is pressed down onto the main A Lo - —og— - oy

poppet by pilot pressure in the X-line and pushes the
main poppet into the seat. By switching the pilot valve
the pilot pressure pushes the amplifier piston against
the manual adjusted stroke limiter. The main poppet is
forced by pressure in the B-line to follow the amplifier ! - Manual adjustment
piston immediately and opens the adjusted area for
flow from B to A. In the neutral position, the flow from B
to A is blocked. With pilot pressure in X flow from A to
B is blocked as well. Without pilot pressure oil can pass
from A to B through the orifice in the poppet.

Note: This is not a complete shut off valve. ' _ Pilot valve

Stroke
limiter

jemmB)

Drawn offset
by 90°
Position over Z2

I
I~ Amplifier piston
Y
Main poppet
Seat
Ordering Information
[
TEH E L 0 9 w L
I I I I I I I I I I |
Throttle Valve ~ Nominal Cartridge Valve Manual Spool Flow Flow Seals Plug Solenoid Design
with Shut-off Size ISO 7368 Adjustment Form Code Direction Socket Voltage Series
Function | with DIN-Lock | without NOTE:
Plug Not required
Code Description |Code Description Code Description when ordering.
032 NG32 063 NG63 A AtoB ) .
040 NG40 080 NG8O B BtoA Code Description
050 NG50 100  NG100 Jo 24V=/1.25A
U 98V=/0.31A*
Code Description G 205V=/0.15A*
Weight: o
N Nitrile *
For 110V / 50 Hz or
TEH032 9.0kg (19.81bs.)  TEH063 38.0 kg (83.8 Ibs.) V. Fluorocarbon 220V / 50 Hz use plug

TEHO040 13.0 kg (28.7 (Ibs.) TEH080 62.0 kg (136.7 Ibs.)
TEH050 22.0 kg (48.5 Ibs.) TEH100 85.0 kg (187.4 Ibs.)

with rectifier

& WARNING: This product can expose you to chemicals including Lead, Nickel (Metallic), or 1,3-Butadiene which are known to the State of California to
cause cancer, and Lead or 1,3-Butadiene which is known to the State of California to cause birth defects and other reproductive harm. For more information
go to www.PB5Warnings.ca.gov.

Cat3200_02.indd, ddp, 04/19

82 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US Manual Throttle Valves
Technical Information Series TEH

Example Accumulator System
for an Injection Cylinder

u L . S

(. —]) -=- Check valve
=]
1
1
b TE7] Pefo—ot
Specifications
General
Size NG32 | NG40 | NG50 NG63 NG80 NG100
Interface Slip-in cartridge according to ISO 7368
Mounting Position Unrestricted
Ambient Temperature -20°C to +80°C (-4°F to +176°F)
Extracting Tools See Accessories
Hydraulic
Maximum Operating Pressure Ports A, B and X: up to 350 Bar (5075 PSI), PortY: 10 Bar (145 PSI) maximum
Nominal Flow 950 LPM 1400 LPM 2300 LPM 4000 LPM 6000 LPM 9500 LPM
A p= 10 Bar (145 PSI) (251 GPM) | (370 GPM) | (609 GPM) | (1058 GPM) | (1577 GPM) | (2513 GPM)
Fluid Hydraulic oil according to DIN 51524 ... 525
Viscosity Recommended 30 to 80 ¢St (mm?/s)
Viscosity Permitted 20 to 380 ¢St (mm?/s)
Fluid Temperature 0°C to +60°C (+32°F to +140°F)
Filtration 1ISO 4406 (1999); 18/16/13
4/2 flow control valve, 4/2 flow control valve,
Pilot Valve See Catalog HY14-2500/US See Catalog HY14-2500/US
Type D1VW Type D3W
Performance Curve
100
—
90 =
e 8 —
= 70
5 A
E 60
g '/Ap=1OBar(145PSI)
T
2 0l A
=1
§ 30
=

20
10

10 20 30 40 50 60 70 80 90 100

Nominal Volume Flow ( % )
Cat3200_02.indd, ddp, 04/19

83 Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA



Catalog MSG14-3200/US Manual Throttle Valves

Dimensions Series TEH
Inch equivalents for millimeter dimensions are shown in (**)
NG32 to NG50 NG63

(0.98)

<« @d2 —»
le— @d1—>

D — B3toaﬁ

Size 32 40 50 63 80 100
H 255.0 | 265.0 | 275.0 | 407.0 | 427.0 | 442.0
(10.04) | (10.43) | (10.83) | (16.02) | (16.81) | (17.04)
b1 102.0 125.0 140.0 180.0 | ©@250.0 | @300.0
(4.02) | (4.92) | (5.51) | (7.09) [ (9.84) | (11.81)
a1+ 60.0 75.0 90.0 120.0 145.0 180.0
(2.36) | (2.95) | (3.54) | (4.72) | (5.71) | (7.09)
doH7 45.0 55.0 68.0 90.0 110.0 135.0
(1.77) | (2.17) | (2.68) | (3.54) | (4.33) | (5.31)
{0401 85.0 105.0 122.0 155.0 | 205.0 | 245.0
(8.35) | (4.13) | (4.80) | (6.10) | (8.07) | (9.65)
B3 205.0 | 216.0 | 224.0 | 255.0 [ 290.0 | 315.0
total (8.07) | (8.50) | (8.82) | (10.04) | (11.42) | (12.40)
NG Bolt Kit- =3 s—¥ O it
Nitrile Fluorocarbon
32 BK415 (BK85) 281 Nm (207.2 Ib.-ft.) SK-TEHE10-E32 SK-TEHE10-E32V
40 BK416 (BK86) 553 Nm (407.8 Ib.-ft.) SK-TEHE10-E40 SK-TEHE10-E40V
50 BK417 (BK87) 553 Nm (407.8 Ib.-ft.) SK-TEHE10-E50 SK-TEHE10-E50V
63 BK418 (BK88) 1910 Nm (1408.6 Ib.-ft.) SK-TEHE10-E63 SK-TEHE10-E63V
80 BK419 (BK135) 935 Nm (689.6 Ib.-ft.) SK-TEHE10-E80 SK-TEHE10-E80V
100 BK420 (BK90) 1910 Nm (1408.6 Ib.-ft.) SK-TEHE10-E100 SK-TEHE10-E100V

Cat3200_02.indd, ddp, 04/19

84

Parker Hannifin Corporation
Hydraulic Valve Division
Elyria, Ohio, USA




Catalog MSG14-3200/US
Technical Information

Proportional Throttle Valves
Series TDA

General Description

X

Series TDA 2/2 way proportional throttle valves are
used to control large oil flows.

Features
[ ]

=
a3 M X
|
=
o

Cavity and mounting pattern according to ISO 7368.

Fail-safe function at power failure.
Leak-free from port B to A.

Pressure differential up to 350 Bar (5075 PSI) possible. Function Symbol Short Symbol

8 sizes NG16 up to NG100.

E )
Function -

i
The TDA valve has a 3-stage design consisting of ! Nl
the first solenoid operated pilot stage with a spool in o
sleeve design, the second pilot stage with the control
spring and the sequence spool and as main stage the
poppet in the sleeve. The proportional solenoid oper-
ates the pilot spool against the feedback of the control
spring and controls the position of the sequence spool.
The main poppet follows the position of the sequence
spool and provides an open area for flow from B to A
(optional A to B) in proportion to the solenoid current.
The poppet is positioned independent of the differential
pressure, which can become as high as the maximum
working pressure.

In combination with the digital power amplifier
PCDO0O0A-400 the valve parameters can be saved,
changed and duplicated.

Ordering Information

TDA E] [w] [o] [o 2 w ]
Propolrtional Non|1ina| Slip-inI Valve Des!ign Porl)pet Non|1inal Fléw Pilolting Selals Solelnoid Pllug Deéign
Throttle Valve Size IS0 7368 Shape Flow Direction Voltage Socket Series
without NOTE:
Plug Not required
Code Description when ordering.
016 NG16 Code Description Code Description
025 NG25 A AtoB L 6VDC
032 NG32 B BtoA X 16VDC
040 NG40
050 NG50 Code Description
063 NG63 N Nitrile
080 NG80 \ Fluorocarbon
100 NG100
Weight:
TDA0O16 3.1kg (6.81bs.)  TDA050 15.0 kg (33.1 Ibs.)
TDA025 4.3kg (9.5 (Ibs.)  TDA063 33.0 kg (72.8 Ibs.)
TDA032 5.8kg(12.81bs.) TDA08O 63.0 kg (138.9 Ibs.)
TDA040 9.2kg (20.31bs.) TDA100 87.0 kg (191.8 Ibs.)